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STARTING THE QUESTIOQ

1. All questions are compuisory. q\
t

2. The candidates must return the question bod s well as OMR Answer-Sheet to the
Invigilator concerned before leaving the Ex ion Hall, failing which a case of use of
unfair-means/misbehaviour will be regLstﬁ) ainst him/her, in addition to lodging of an
FIR with the police. Further the answer- h\e f such a candidate will not be evaluated.

3. In case there is any discrepanc@ estion(s) in the Question Booklet, the same may

CANDIDATES MUST READ THE FOLLOWING INFORMA;lOg/INSTRUCTIONS BEFORE

be brought to the notice of the @gntrdller of Examinations in writing within two hours after
the test is over. No such complaint(8¥will be entertained thereafter.

4. The candidate must no ny rough work or writing in the OMR Answer-Sheet. Rough
work, if any, may be doneNpghe question booklet itself. Answers must not be ticked in the
question booklet. IS

5. There will be no n ive marking. Each correct answer will be awarded one full mark.
Cutting, erasing, overwriting and more than one answer in OMR Answer-Sheet will be
treated as incorrect answer.

6. Use only Black or Blue Ball Point Pen of good quality in the OMR Answer-Sheet.

7. Before answering the questions, the candidates should ensure that they have been supplied
correct and complete booklet. Complaints, if any, regarding misprinting etc. will not be
entertained 30 minutes after starting of the examination.
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1. The study of behaviour of the overall economy is called :

(1) Micro economics (2) Macro economics
(3) Positive economics (4) None of these
ol srefeaven & IIER B AT BT BE ®

(1) ges1/afe sefenre - (2) wHfe st

(3) THRTHS JARH (4) 37H | PIE TEl

2. Three fundamental questions of economic organization are :

(1) When, for whom and how . (2) Who, how and when $
(3) How, what and for whom (4) What, who and why | @,
anffe wes @ 9 MRYE UeA €

(1) @4, fras fog iRk I (2)aﬁa,%ﬁaﬁwm60

(3) 39, T iR fFas fory 4) @, B

3. A situation in which limited resources are being ug’%dmost effectively is called :

(1) Economic (2) Scarce 3) e (4) None of these
o Reafa Rras D FamE o8 gaR | SIGRE
(1) snfd®w (2) ®H N A@H&W (4) 39H | PI Bl

4. Cardinal utility theory assu @:onsumer can:
(1) Determine marginal rateof Substitution between goods
(2) Avoid the law rgishing marginal utility
(3) Rank basket of $. as to their preference
(4) None of thedeN, ¢
weT/ ST g A @ 6 Imia &R |qadn @
(1) Txgeit @ dra fvemgs @ dmia ) FuiRa s
(2) | STAfET & "ed yfiwd & a8 1 THRAT
(3) T=olE B AW ¥ FHE/TR B B BT 97/ AofEg
(4) 7§ B T |
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5. Which is factor of production ?

(1) Labour (2) Land

(3) Capital (4) All of these
SAET & Ted - & ?

(1) =M™ (2) A

(3) T (4) 7 & W

6. Economic growth is depicted by : | 2$
(1) A shift in production possibilities frontier outward Q\

(2) A movement from inside the curve toward the curve

(3) A shift in the production possibilities frontier in

5}
e Hgfyg fears o 2 6\
(1) SR F9IfdT WieaR &1 9= ) &n—rw

(2) 9% & IR B dB P WP

?3) wmwﬁamégﬁmm

(4) None of these

(4) T I IS 7TE
.
7. Law of demand s that an increase in the price of a good :
.
(1) IncredSas e supply of good (2) Decrease the demand of that good

(3) Increase the demand of that good (4) None of these

AT @1 PR qaT & f g @ A e
(1) o%g &1 gfd % gfg = 2 (2) S99 a¥g & H°AT Hedr @

(3) BV I &I AT g¢ e ? (4) 39 | P T
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8. Increase in the price of blue jeans leads to increase in the demand of shoes, then jeans
and shoes are :

(1) Complements (2) Inferior goods
(3) Normal goods (4) All of these

“ell Si=A &1 B g A S B AR el 7, R o= 9 o §
(1) &> (2) T H1A

() | a%] 4) 3 | l

9. An inferior good is one for which an increase in income cause an : \

(1) Decrease in supply (2) Increase in dema

@.
TR AT 98 & OfF M 989 3 S %
(1) it # o+t &l 2 () “’2\5& 2

(3) Increase in supply (4) Decrease in

(3) ufef ¥ gfy e 2 (4) FH B}
10. The demand of the following is motm«8e inelastic :

(1) Transportation OQ (2) Taxi rides

(3) Bus tickets (4) Airline tickets

ﬁwaﬁﬁwaﬁw@%ﬁ%
(1) g | (2) SR A
*

(3) &9 fewe (4) EaE e fede

11. If an increase in price of a good has no impact on the total revenue in that market,
demand must be :
(1) Price elastic (2) Price inelastic

(3) Unit price elastic (4) All of these
PG-EE-2015/(Economics)/(A) P.T.0.



ﬁmﬁmmﬁwﬁ@mwmﬁm%?ﬁaﬁwﬁwé:
(1) BrT < (2) P aretre
(3) 3FE I (4) A i
12. Which of the following markets would most closely satisfy the requirements for
competitive market ?

(1) Electricity (2) Milk

(3) Cable television (4) Cola N l

mﬁmﬁwmﬁmaﬁmaﬁmmﬁﬁ? \

(1) fasrelt (2) @ 60

(3) Bt TG (4) ®rem
13. Ifa competitive firm doubles its output, its tot efue :
*
(1) Double (2 an double
(3) Less than double one of these
U G o srer Sedre g T BT T 377
(1) Srpr 2 '\ (2) SN W T )
(3) QT ¥ @ Q () T ¥ B
14. A monopolist maximize&%it by producing the quantity at which :
(1) Marginal re dual to marginal cost

(2) Margina vente equals price

(3) Marg st equal to price

(4) None of these

THRBT AT A I & AT BT SR XD o % -

(1) & oM 9 eid arrg avEr 2 (2) AT T PHT B WEw

(3) T T FHa B R (4) 379 | B TEY
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15. The efficiency associated with monopoly is due to:

(1) Overproduction of goods (2) The monopoly's profit
(3) Underproduction of goods (4) None of these

(1) il 1 SATET ST (2) TSGR BT A

(3) G HT HH ITTEH (4) 3T | D3 T

16. The reduction of tax :

(1) Will have impact on tax revenue %

(2) Causes a market to become less efficient

(3) Could increase tax revenue if tax rates are high OQ

(4) None of these @
PR Hed A ¢ “
| .&‘:O\G

(2) SR ¥ HH GHAT BT PR @

(1) IR A TR TG TS

17. Whenataxona goc@ts‘ small and is gradually increased, tax revenue:

(1) Will fall (2) Will rise
L g
(3) Will first@n rise (4) Will first rise then fall
mﬁﬂﬂmﬁwwaﬂtﬁaﬁnﬁim%‘,zﬁmm: |
(1) e | (2) Fe
 (3) uge el R " (4) TEer g i

PG-EE-2015/(Economics)/(A) P.T.O.
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18. If a buyer's willingness to pay for a car is Rs. 20,000 and she actually buy it for
Rs. 18,000, her consumer surplus is :
(1) Rs. 20,000 ‘ (2) Rs. 2,000

(3) Rs. 18,000 (4) None of these

uﬁﬁwW?ﬁmzo,ooomaﬁaﬁwwzﬁ%aﬁ?agwﬁ18,ooow€fﬁ
WIE ol 8, ) SHAT SUHIT g §

(1) 20,000 %o (2) 2,000%0

(3) 18,000 o ' (4) STH A B T ®\§
19. If a market generates a side effect or externality, then free r@ solutions :

(1) Are efﬁcien"t : (2) Are inef# 'eQ

(3) Are equitable (4) None @

IS U IR GEd T R g AT BRer & Ay IR Ao

(1) wem & >

g
3) R & @o&(és‘vrﬁr q P TH
20. The tax burden heavily falls (ﬁ@rs :
(1) Clothing (2)9@ (3) Entertainment (4) Food
ST ® :

PR BT TH9 fAabar W

.
(1) ®us 2) T (3) FARSH (4) =TT
*
21, Which is n issue in macro economics ?

(1) Relating to balance of payment
(2) The relation between inflation and unemployment
(3) Determination of price in agriculture sector

(4) None of these
PG-EE-2015/(Economics)/(A)



T W PI-91 FAe AT P HeT qE 2 ?
(1). FTaF e ¥ Hafea

(2) FERDIT T AR H Ay

(3) PN &= # Ha o1 iR

4) 3 A B T

22, Instudying growth. theory :

(1) Focus on the very long run ' %

(2) Ignore recession and booms

(3) Assume that all inputs are fully employed OQ

(4) All of these Q~

Wafy RreT @1 o & *\
(1) &rfy < &1 w® ea= K6\

(2) H& g ASH BY AT BRAT @

(3) 7 o ¥ 5 WA T B g s&m%
(4) T f 0&

23. Potential GDPis:
TS

(1) Always greater th al GDP (2) Growth rate of country
(3) Creates inflg$i ¢ (4) None of these

wmed GDP ® :

(1) &9 aRafde GDP 9 a7 & Q) 3T @ I )

(3) Ity YT HRaT B (4) 37 | P13 TE

PG-EE-2015/(Economics)/(A) P.T.O.



24. A large transfer in federal budget is :
(1) Defence (2) Police

(3) Welfare ’ | (4) Social security

Ferg gore § warer/afd s g
(1) gra @) gfera
(3) AT (4) ATAISTS RET l

25. A person had an income of $ 20,000 last year and paid $ 1@ tax. This year, the

person had an income of $ 1,00,000 and paid $ 30,000 irNta e marginal tax rate of

that person is :

(1) 25% (2) 30% (3) SO%Q (4) None of these

v afyE @ o § 20,000 frew W K % 9w § 10,000 IR AT T A S
o @ ema $1,00,000 & 3R $ 30,00 S e A T R R T
(1) 25% ) 30% @ (3) 50% 4) T & P T
) L 2

26. Which of the following i Nncluded inM-17?
(1) Gold (2 Qdit‘cards (3) Stock (4) All of these
= A PG M-1 ¥ wmiAe T B © 7
(1) | * Q) I FTS (3) wWid (4) 3 9

27. Asp n:tarists, in the long run, the Phiilips curveis:
(1) Downward sloping ' (2) Upward sloping
(3) - Vertical (4) Horizontal
W%W,ﬁémﬁ,ﬁmw%w
(1) < @ TR FPT EA (2) SR B R FHT TN
(3) wraad (@ R

PG-EE-2015/(Economics)/(A)



28. Which is an example of portfolio investment ?

(1) A places his funds in bank (2) A puts Rs. 1,000 in money market
(3) A purchases bank of U. S. A. (4) None of these
IRATE I fHadT ISR 7 ?
(1) T oe 8% ¥ Bs var & (2) T &1 IR # E9R $UY ST &
(3) U IAST BT I WA B (4) T | B TE

29. The price of bonds and interest rate are : . $
(1) Not related (2) Positively related \@'
(3) Negatively related (4) All of these
dfs 7 T R B P B | O
(1) e =8 (2) WPRETS
(3) TERIS et 4) T S

o change (4) None of these

30. Asinterest rate falls people hold money : Ej 6

(1) More (2) Less
T R R & &RT 427 = € A
(1) waraT ) ?FHOQ (3) uRad= =& (4)s=ﬁﬁaﬂ—§:r€r

~31. Which of the follow 1s‘not an element of the redistribution with growth policy
approach ? Q

(1) Minimu ggislation (2) Land reforms

(3) Progressive taxation (4) All of these

qRaReT gl Y o @ | g% aw ey R ?

(1) T AR B | (2) 4 gur
(3) S=Ifa &R ‘ ' 4) T

PG-EE-2015/(Economics)/(A) / P.T.O.
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32. The currency of USA is:

1) $ @) € 3T . (4) Noneof these
IFRIHT B T ©
(1) $ (2) € 3) X (4) 39 A H1Z TE

33. If the number of people classified as unemployed is 20,000, and the no. of people
classified as employed is 2,30,000, what is unemployment rate ?

1) 8% ) 8.7% (3) 9.2% 4) yg’&( these

I RISFIRT & F&GT 20,000 T ISTRT 6 |41 2,30,000 %%@w&wﬁ WE:
1) 8% ) 8.7% 3) 9.2% Q~ 4) =T q BrE TE

34. Banks can create money : *
N b
(1) By paying interest to their depositors \\
(2) By making loans that result addik@eposits

(3) By offering Financial seryice as brokerage
(4) All of these Q\

& Ha1 9 wad © 0

(1) STHIEARIT ® & by

(2) o smm@ﬁ{ FifoRed ST o9l ©

3) U | S el

4) &

35. If interest rate falls then bond price :
(1) Will remain same (2) Will rise
(3) Will fall (4) None of these

PG-EE-2015/(Economics)/(A)



36.

37.

38.

39.

Ife e <) AR ?, 1 die &) $a -

(1) T8 = | (2) st

(3) frafr 4) 3 ¥ BIE TE

Which is following example of fiscal policy ?

(1) A decrease in welfare payment (2) A decrease in bank rate

(3) A decrease in tax rate (4) None of these

RO ] & ISR -9 & ? |
(i)amméwﬁa#ﬁ (2) =TT TR H FHY &
(3) B X H FHH (4) 379 9 Pig &I

X
o

If the economy is near full capacity, the short run aggregai% curve:

(1) Becomes flatter ' (2) Becomes stee
(3) Shifts to right (4) Shifts te
ﬁaﬁwmqﬁaw%aaﬁm%,eﬁwo I
(1) wHeer q71 (2 T

(3) < TR ST @W TG ST

The aggregate demand curv (@hlft down if :

(1) Government spending webgingtease (2) The interest rate decreased

(3) Taxes were increa (4) Money supply were increased
Y AT 96 T B afe

(1) WReN e ) =T TR T o

() X TG (4) F&T 9T & oo

To lower interest rate, the bank of India could :
(1) Buy securities (2) Raise treasury bill rate

(3) Decrease money supply (4) All of these

PG-EE-2015/(Economics)/(A)
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12 A
ST T B Y B g AR D § -
(1) sRefy @ & (2) G Rt &R T &
(3) HaT gfct ®H B & (4) 3 =0

40. Which following statement is true ?

(1) Micro Economics is study of whole units.

(2) Government has no influence over market price. %

(3) Macro economics is concerned with individual units.

(4) None of these Q
T W B U G & ? Qp
(1) afte v T SHIZAT BT 3egTT Bl 2 |

(2) PR BT ISR HIHd TR G9E T8 ¢ | ”6\

(3) w&a&iﬁmwﬁvﬁw@ﬁ%

@) T @ P é

L 4
41. Which of the following types oféN y describes the economy of the U. K. ?

(1) Mixed Economy (2) Market Economy

o Ho BT fqRAT B Y1 SiF-4l avE &) srefarawen e ?

(1) fAfra erefaax . (2) SR 3refergwer
42. Suppose @’Economics by David King. What is opportunity cost of your
purchase ?

(1) The money you paid for book

(2) The time you spend on studying book
(3) Cost of producing book

(4) None of these

PG-EE-2015/(Economics)/(A)
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A @1 M9 David King @1 312i¥me @¥eHT @18d &) | ous @9e 3 oaeR anTd a7 & 7
(1) feam & foag amo & fay
(2) fram vest & w9y oman
(3) foamE Saarg & AT

(4) T @ P &
43. Aggregate demand is increased by :
(1) Increase in interest rate (2) Increase in taxes
(3) Increased consumer confidence (4) None of these &
1) =T TR F Ferd @) FF F TR 0

(3) IUHIET BT ATHATEE qeH I (4) 379 @ B

44. Aggregate supply increases when : 6

(1) Raw material price rise 2 W

(3) Wages fall | (4)@&% these
@ gfef et & o9 ¢

1) mwaﬁaﬁnﬁa@ﬁﬁoo(z) T et &
(3) o faxe 7 4) A h

.
(1) Growth of1 union

45. The ultimate incre:se ianer productivity usually reflect :

(2) Increased education and improved equipment
(3) Increase social security

(4) None of these

G-EE-2015/(Economics)/(A) ' | P.T.O.
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46.

47.

48.

JreTd H AR BI ITEHAT g1 AMAR TR I @
(1) % 9 3 Gafg |

(2) frem g S 3iGIR 9 4|

(3) AT RET 981 A

(4) 379 | ®Ig TE
Investment in physical and human capital is encouraged by : ' %
(1) Lower taxes on interest income (2) Lower taxes on inves e@éturns

(3) Lower taxes on returns to education (4) All of these Q
At Golt 9 A9 goft & fAaer wiefea 8 @ ¢
(1) =t 3 R e (2) e wiftg R

(3) fRmem wifly o =g AR @) ¥ =f
. ﬁ*
N

Sustainable economic growth depends upor@

(1) Investment, not saving Investment and saving
(3) Neither saving nor investmentA None of these
Areferee e Wt PR D

(1) e, s=e =& ) e 9 T=a
(3) ¥ ¥=d, 1 e . (4) 39 & ®E T8I
Income dispar Qeasured by :

(1) Populaﬁwth rate (2) The Gini Index
(3) Gross domestic product (4) None of these
s e AT AT § g |

(1) S8 |afg <R (2) i gEsis
(3) bel WRE] ITE (4) T A BIg TE

PG-EE-2015/(Economics)/(A)
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In developing economies, the fraction of the economy in non-market transaction can
be as much as : )

(1) 10 percent (2) 25 percent
(3) 75 percent - (4) 50 percent
frraeier <9 # IR AGIR SR H srefeyaven &1 AT ¥
(1) 10 wferera (2) 25 wfrer
(3) 75 yfcrera (4) 50 wferera

Solow growth model says :

(1) Poor nations will grow faster than rich nations Q\

(2) Rich will get richer poor will get poorer

(3) Rich will get poorer and poor will get richer @
(4) None of these *

el Hafg Afed Fedl ¢ ¢

(1) T T FER A B GO T A qEd ©

) WWWHWWT@H?&\A

K%

U. S. represents less tHag 5% 0f the world's population but produces a share of world's
output almost equ

(1) 5% 2) 10% 3) 25% 4) 50%

SARBT 237 Y STEET GER B TGS &Y 5% & B € olfhT WAR P ScArg H AT
e 2 '

1) 5% ) 10% 3) 25% (4) 50%

EE-2015/(Economics)/(A) P.T.O.
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52. Malayasia, Mexico and Brazil are classified by World Bank :

(1) Industrial Economies (2) Low Income Countries
(3) Underdeveloped Countries (4) None of these
ﬁw%mﬂmwmmﬁaﬁwﬁmw
(1) aﬁ-aﬁﬁras JreferaRer (2) =1 amy 2w
(3) Sreufamfrr <or (4) =T ¥ P T

53.  Which of the following is not a quasi-public gl)Od ? %
(1) National defence . (2) An automobile @'

(3) Fire protection (4) All of these Q\

T W BT o AideE awg 9 Y ?

(1) I Xem () TH oﬁﬁﬂ@*
\

(3) 3T T 4) A

L 4 .
54. If export prices increases 5 percent and im@%fc s 20 percent, the commodity term

of trade is : &

(1) 0.91 (2) 0.88 ) 0.25 (4) None of these
ﬁ%msmmaﬁ\%ﬁzommgmmwaﬁ:

(1) 091 (2) @88 (3) 0.25 (4) 39 & P T8

- 55.  The selling of H!@cac by its company in the USA than at home (Korea) is known
as:

(1) Dump ‘ (2) Export Substitution

(3) Import Substitution (4) All of these ,
TRFT ¥ gt IR A TR TN gRT oY W (@R B T S o &
(1) &g 2) Fata gforenys

(3) < R (@) A

PG-EE-2015/(Economics)/(A)
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Bilateral aid :
(1) Is a technical aid given by IMF
(2) Is given directly by one country to another
(3) Is aloan at Banker's standard
' (4) None of these
fgueha |em™ar :
(1) waﬁﬁmm‘flMFm'cﬂmﬁ%

(2) B AR R TH I DGR G A D@ (O\L‘
(3)%%%?511‘\'%:01% | ' Q’\'
4) =T @ B TE O

. Inflation is measured by : 2

(1) Consumer Price Index (CPI) (2) Deprec1at§
~ (3) Current account (4) Allof %\

ey AT S @
(1) SoTeRTT B ADID (@
(3) e W Q

B. Direct taxes are: 0
(1) Property tax (2) Income tax
(3) Inheritance tax Q (4) All of these
Yehe TN B L
(1) HufRy &R (2) I B
(3) STRIEGR PX | ) =

39. If higher income people give higher tax on income :
(1) Progressive | (2) Regressive
(3) Excise tax (4) All of these
3-EE-2015/(Economics)/(A) | P.T.O.
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IfE So MG AT o W SAT B 2
(1) wrfersfrer ) gl
(3) IAMEHRT TR '(4):3;@5;1

60. Monetary policy affects the :

(1) Taxes, exchange rate (2) Money supply, interest rate
(3) Stock price (4) All of these

Aifee Ay sfdd &= ©

(1) #=, fafra xR (2) ¥&T g, & &) $
(3) Wi® P (4) A w @'

61. Negative externalities is known as : O
(1) Resource curse (2) Marginal gmage

(3) Public good 4) Ex%kghseconomles
THFRIAS JEIAT ST S &

(1) e sty Q{%ﬂm@w

(3) wrdSife a%y 4&4) qreT SrafireafiT

62. Which of the following b@\ple of tragedy of commons ?

(1) Over fishing (2) Smoking in public place

(3) Excessive rai . (4) Common use of public toilets
T A DI- A 27

(1) REN] (2) AENTE IF UR HUT:

(3) sraferss /arfar aut (4)Wﬁ€5¥ﬁﬂmmmm

63. Land and natural resources are considered as :
(1) Capital accumulation (2) Nonproducible
(3) Output (4) Common property resource

PG-EE-2015/(Economics)/(A)



4fY 7 Wpfis FHRA S W ©
(1) i wa (2) ST
(3) S (4) o HURY HEwA

B4. Joseph Schumpeter is the exceptional economist who links the entrepreneur to :
(1) Oligopolistic Capitalism (2) Innovation
(3) Resource management (4) None of these

W@ﬁ@@&ﬁﬂﬂ#%ﬁﬁ@ﬁﬁaﬁgﬁ%:

19

(1) 3remfre goiarg (2) enfawpR
(3) R e @) 3T | PIY TE @%

65. Which of the following is not an assumption of Schumpeter's stati Q&:e ?
(1) Perfect competition Q~6 |
(2) No economy below full employment |
(3) Technical change L
(4) None of these ’©
T Q P A=IET gftaex Y Rer sraven @ ?

(1) of SR @
(2) P srefarawer Of AR A A

(3) TR R QO
(4) T A B 7TE 0

66. Which of the followin@t% natural public monopolies ?

(1) Postal serv@b (2) Electricity

(3) Water suppl (4) Mobile phone
T QY B THhie e TEteR) T8 § ?

(1) S/ | (2) fasrent

(3) w/a # g (4) ArarEe W

PG-EE-2015/(Economics)/(A)
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67. The ‘emigration of highly skilled people from developing countries is known as :

(1) Brain drain (2) Productivity
(3) Profit (4) None of these
Y HI A BT ISa Reraeha <2 |, FEamw @ ¢
(1) wfemr geras A (2) SdTEHar
(3) @ 4) T | P T
68. Simon S. Kuznets argues that the major stock of capital of an economically advanced
country is not its physical capital but :
(1) Natural Resources (2) Land &
(3) Body of knowledge (4) Quantity of 1 \'
Wwomﬁwﬁéﬁgaﬁ?ﬁﬁ?ﬁﬁﬁéﬁﬁm g sH@ ARIRS ot
& ® afewp
(1) wTpfcrep A & (2) 4 ®
(3) 9 FT WeR/IEI & ( ) W 2

69. The unemployment rate is :
(1) Employed plus unemployed Sby labour force
(2) Labour force divided @l tion |
(3) Unemployed d1vn® ployed
(4) None of the

@Waﬁmﬁﬁﬁﬁﬁmﬁam

(2) =™ wfda & S9EET W faa &
(3) RIS BT AN F fanfora w=em
(4) T & o 7@ |

PG-EE-2015/(Economics)/(A)



70. Ina production function y = f (L,K,N,T)y is :
(1) National product ‘ (2) Capital
(3) Natural resources (4) All of these

Sared e ¥ y=f(LK,N,T)y 8

(1) I A (2) gon
(3) WIhfcrer AT (@) F =h

71. Green Revolution consists of : )i e
(1) Mechanization (2) HYV seeds 0&
(3) Fertilizer (4) All of these Q\
aRe wifT 3 et § Qp -
(1) - FEN=TBRoT ) Sz gof i

(3) IRB/EAE @ A a@

72. The essay on principles of populatlon was %by

(1) The World Bank @]uhan Simon
(3) Abraham Lincoln | ’$4) None of these
SR & g R A . |
(1) faea d& gro (2) SIfera AEHT E)T
(3) srmTEd fdie . @) 3 | H1g &
73. Amartya K. Wasis that ha\}ing enough to eat depends on : ‘
(1) Low Pove ate (2) Society's system of entitlement
| (3) Income distribution (4) All of these
m?ﬁzﬁoﬁﬁﬁﬁﬂ?mw%‘ﬁ?@ﬁiﬁmmmﬁﬁ?m%:
(1) = R &R W 2) FES B FHER BT TG R
(3) o freRer W @) ¥ T |
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74. The following is not cause of food insecurity :

(1) War and bad governance (2) Aid from developed nation

(3) Poor roads (4) Corruption & mismanagement
GTel RIRET @ forg =7 BRor 78T 2

(1) g€ 9 I TWHR (2) efaa I | [

(3) TR A (4) g 7 FHyuEuT

75. Indices of income distribution measure :

~ (1) Absolute Poverty (2) Relative poverty \ l
(3) Standard of living (4) Economic growth @
3T faaRer & a® AUd © | Q’&

(1) fRue W& (2) T
(3) & BT WR (4) snRf®

76. State Bank of India is the name of a : . \ S
(1) Corporation %\hemical Industry
(3) Organisation @ ) Financial Institution
RA P T 96 99 © T : ¢ |

(1) ™ @1 OQ\ (2) NS e B

(3) | BT @) faxia S &1
77. Central Banki tion in India are performed by :
(1) Pun@onal Bank (2) State Bank of India
(3) Reser¥g Bank of India | (4) None of these
ART H B1g 96 @ s fby o € -
(1) Wore ot §% g/ 2) Ve & sifp sfar gRT
(3) Rerd ¥ offw sfosar g (4) 379 A DI e
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78.

79.

80.

81.

Indian economy is :

(1) Mixed economy (2) Free economy
(3) Socialistic economy (4) All of these
AR Jfefegaeer ¢

(1) fafra sreferazen (2) wadd referaRern
(3) AETSTATS SrefegaRel (4) 3

23

Who is Father of Economics ? $

(1) Adam Smith (2) Karl Marx \
(3) Max Muller (4) None of these

3fees &1 fUar & 7§ ?

(1) geA Re Q) Bl AT Q~

(3) T e (4)331#1#%-@\
BN

Economic survey is published by :
(1) Ministry of Finance

@ernment of India
(3) Indian Statistical Institute Q\\& All of these

(1) fa 5=/ @ g1 (2) RA IRBR gRT

(3) RAT AR G gwT @) TR
Look at series @,{ij P What number come next ?
1 ' 1 2
(1) o () 2 3) r | (4) None of these

(1) § @ % @ 2 @) T X PE A

PG-EE-2015/(Economics)/(A)
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82. Look at series 36, 34, 30, 28, 24, ....... . What number comes next ?
(1) 20 2 2 3) 23’ (4) None of these
3ot dI RIT 36, 34, 30, 28, 24, ....... ST v T By ?
(1) 20 (2) 22 (3) 23 (4) T A B3 T8

83. All the glitters are not gold :

(1) Only gold glitters (2) Metal glitters

(3) Not all metals glitter (4) Noneof these

T gHS Tl | S B ' %
(1) daet [T TEET ¥ (2) arg THEd & Q\

(3) w e1g T T (4) T R @

84. Every library has books :
(1) Books are only in library @ ib}ary is without books
(3) Some libraries do not have readers %\ of these
TE e § feard B & \
(1) JKISTAT ¥ dacl [hard o @ (2) fraEl & TR D5 ST T8I

3) @WﬁV@ @ 3w

85. A person walks at 5 kmM¥ffor 6 hrs and 4 km/h for 12 hrs. His average speed is :
3

(1) 8km/h Q () 6km/h
(3) 4km/‘ . | (4) None of these
TP Ry HveT 6 e ol 4 fhedie] Wiy Hver 12 U @ R werdm & |

I9H! d T B
(1) 8 f&#/goer ' () 6fFH/gver
(3) 4 fHi/gver (4) 3T & BIg T8

PG-EE-2015/(Economics)/(A) ‘
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87.

88.

B9.

25

30% of a number is 12.6, find the number :
(1) 45 (2) 38 (3) 40 (4) 42
U A& &1 30% & 12.6, 98 6T q13T -

(1) 45 ) 38 (3) 40 @) 42

What number must be added to 6, 16 and § to get an average of 13 ?

(1) 22 (2) 25 (3) 20 (4) 18
6,16a8ﬁwmm@mﬁwaﬁm13?{?

(1) 22 (2) 25 (3) 20 (4) 18 \,®'
™

What is the ratio of 10 minutes to 1 hour ?

1 1 ' 1 Qﬂ'
(1) 3 () r 3) i 1
10 fiFe &1 v wve arqurg @y @ 2 * 2N
: 1 1 1 ¢ 3
M < @ - ® 5 6’\\ @

A student is ranked 12th from right and 9th @eft. How many students are there in
total ?

1) 21 @) 16 0® 20 @) 25

Wﬁﬂﬁfaﬁmﬁﬁu@ﬁ9%ﬁm%ﬁgﬁﬁﬁﬁ#ﬁmﬁ§?
1

1) 21 3) 20 (4) 25

Look at the series 5 , 40, 40,27,27.......... What number should come next ?
1 12 @) 13 3) 15 4) 14
53,53,40,40,27,27 .......... wmmummwmmﬁq?

(1) 12 (2 13 3) 15 4) 14

-EE-ZOlS/(Economics)/(A) P.T.O.
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91. In order to obtain an income of Rs. 650 from 10% of stock at Rs. 96, one must make an
investment of :

(1) Rs. 3,100 (2) Rs. 6,240 (3) Rs. 6,500 (4) None of these

650 TUY AT 96 TUU P Wik @I BT 10 gfoerd urd &= & e fawn faer o=
=112y ? '

(1) 3,100 %o ~ (2) 6,240 %0 (3) 6,500 %o (4) 3 | DI T8I

92. India has largeét deposits of what in the world ?
(1) Gold (2) Copper (3) Mica (4) n@f these
TR A AR B U ST S R & ? \(b.

(1) < @) ® m N

93. How much seats belong to Haryana of Lok Sabha Q~

q BIg TE

(1) 10 (2) 9 3) 11 N (4) None of these
BRETT % e B Rl W ¥ 2 ©

(1) 10 ) 9 11 (4) STH A DIg T8

94. India's first satellite is named @:
" (1) Aryabhatta OQ (2) Bhaskarall

(3) Albert Einstein (4) None of these

Wﬁ%@@amwﬁqu@?
(1) s | ) WrER 11

(3)34@«’?@ - (4) 379 | B T

95. In anormal human body, the total number of red blood cells is :
(1) 15 trillion (2) 20 trillion
(3) 30 trillion (4) None of these

PG-EE-2015/(Economics)/(A)
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(1) 15 feferm (2) 20 f¥ferar
(3) 30 feferam - 4) T @ o1 T
96. If speed of rotation of earth increases, the weight of body :
(1) Increases (2) Decreases
(3) Remain unchanged (4) None of these
A gt Y /TR A YR e 2 A e \L~
(1) gear @ (2 PHE@T ' @'

97. IDA stands for : | ' @

(1) Indian Development Agency *

(2) Industrial Development Analysis

(3) International Development Association @
(4) None of these

IDA &7 of %9 § : AQ

(1) 3T SToruie Tor : Z)WWWWW
(3) AT SaeUHT (4) 3 9 P A

98. India is the grow@ﬁes: _
(1) Largest ; (2) Smallest

(3) Appropriate for nation need (4) None of these
IRA STell &1 IEH &

(1) srferep /e (2) ®4

(3) ¥ Sevd @ forg gate (4) ¥ A B T

~EE-2015/(Economics)/(A)
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99. Human Rights Day is on :

(1) 24 February (2) 15May

(3) 10 December (4) None of these
A AR T Tedr @ ¢ |

(1) 24 BREQ (2) 1573

(3) 10 fegmr o (4) 379 ¥ B T

100. India became a member of United Nations :

(1) 1949 (2) 1945 (3) 1959 @lﬁe of these

R WY W FT GG T Q
(1) 1949 (2) 1945 (3) 1959 Q~ (4) 39 @ P T

v&

2
QQ

S
Q .
@.
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1. If an increase in price of a good has no impact on the total revenue in that market,
demand must be :

(1) Price elastic (2) Price inelastic

(3) Unit price elastic (4) All of these

AR o] A PG T A R F G A W G T TSl 8, AN I8 IO A
(1) ®ra (2) B rera

(3) FHIE BT A (4) A |

competitive market ?

(1) Electricity @) Milk 60’\'

2. Which of the following markets would most closely satisfy the reg%ments for

(3) Cable television ' (4) Cola
T QA P QA IR IR aOR @ TR B G B K,
(1) faerh @ @ *x
(3) Baa cellfawTd (4) . \

3. If a competitive firm doubles its outp @)tal revenue :
(1) Double ’\ (2) More than double
(3) Less than double (4) None of these
v gferarft w9 AT S HR B, A1 SHD B A ¢
(1) < . ) < & SgraT Bl
(3) A A P (4) ¥ W P T

3
4. A monopoli@mizes profit by producing the quantity at which :
(1) Marginal revenue equal to marginal cost

(2) Marginal revenue equals price
(3) Marginal cost equal to price
(4) None of these

PG-EE-2015/(Economics)/(B) P.T.O.



THIEBR YT AN G101 & HIHT $T IAGT B For g W -
(1) ¥ ama 7 Al g SRR § (2) AT g ST B avER 2
(3) HId ANTd BT B a_IER & (4) T8 & B TE

5. The efficiency associated with monopoly is due to :

(1) Overproduction of goods (2) The monopoly's profit

(3) Underproduction of goods (4) None of these

THIHR & a1 S & T -

(1) a¥gall &1 SarET e (2) USSR BT o @*
(3) Twget @1 B weres (4>sawaﬁga—§f\0’\,

6. The reduction of tax : QO
(1) Will have impact on tax revenue

(2) Causes a market to become less efficienyt 6 S
(3) Could increase tax revenue if tax ra{@\igh

(4) None of these

(2) IR ¥ FH BT BROT

(3) B I T FR T SUET W@ 7
*

(4) =™ |

7. When a tax on a good starts small and is gradually increased, tax revenue :
(1) Will fall (2) Will rise

(3) Will first fall then rise . (4) Will first rise then fall

PG-EE-2015/(Economics)/(B)



9 fd IR R FR AreT 3R ¥R ggar B, Al B Y ¢

(1) weh (2) @&
(3) uear freft fe geh (4) U g R fireh

8. If a buyer's willingness to pay for a car is Rs. 20,000 and she actually buy it for
Rs. 18,000, her consumer surplus is :

(1) Rs. 20,000 (2) Rs. 2,000

(3) Rs. 18,000 (4) None of these E$

' aﬁaﬁrwmﬁm20,000@11%%3%3@?@?%%@?%@&000@&1#
W oY 8, Al SED! SYHNT I © O

(1) 20,000 To (2) 2,000 To Q~

(3) 18,000 %o (4) = ¥ AT

*
9. If a market generates a side effect or external@ free market solutions :

(1) Are efficient (@ inefficient
(3) Are equitable ’\ ) None of these
aﬁwma@a@w@%w%ﬁgﬁwﬁfm:
(1) e & (2) 39T &
' .
(3) W & Q (4) 37H | PIE Tl
.
10. The tax burden ily falls on sellers :
(1) Clothing (2) Housing (3) Entertainment (4) Food

PR BT T419 fApar IR 9N TSl ©

(1) ®Us (2) =R (3) FHARSH 4) @™

PG-EE-2015/(Economics)/(B) P.T.O.
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11. In order to obtain an income of Rs. 650 from 10% of stock at Rs. 96, one must make an
investment of ?

(1) Rs. 3,100 (2) Rs. 6,240 (3) Rs. 6,500 (4) None of these
650mm96maﬁm@ﬁamlommma}mm%m
ey P
(1) 3,100 %o (2) 6,240 %0 (3) 6,500 %o (4) 379 9 B¢ T8
12. India has largeét deposits of what in the world ? %
(1). Gold (2) Copper (3) Mica & ne of these
WAR H ART D YR RyTeT 7 e 27?
(1) = (2) dfar (3) W O(4) T 9 B T8

13. How much seats belong to Haryana of Lok Sabka 7

1) 10 @) 9 %’\&, (4) None of these

Bﬁmvrrﬁaﬁ?mmaﬂﬁmﬁ‘rvﬁé%?
(1) 10 ) 9 AQ (3) 11 (4) T8 I +1E 98

14. India's first satellite is n Q&
(1) Aryabhatta 6 (2) Bhaskara II

(3) Albert Einstei (4) None of these
HRT & ggeh VQ BT TH f6F W) ger ?

(1) o ¢ (2) R 11
(3) srewd 4) ¥ 9 P 78

15. Inanormal human body, the total number of red blood cells is :
(1) 15 trillion : (2) 20 trillion
(3) 30 trillion (4) None of these

PG-EE-2015/ (Economics)/ (B)



U 3T G IRR ¥ AT G Aol &) dT e & ?

1) 15 fReferm (2) 20 feforam
(3) 30 ffer (4) ¥ F PE T
16. If speed of rotation of earth increases, the weight of body :
(1) Increases (2) Decreases
(3) Remain unchanged . | (4) None of these
I gedl B Y/ TaN ) AR Ted T O IR BT AR - \&
(1) qdear 2 (2) &9 BT B

(3) 9 et 4) T A B3 7 §@'

17. IDA stands for : @

(1) Indian Development Agency

(2) Industrial Development Analysis . 6 o

(3) International Development Association %\

(4) None of these @

IDA &1 gof %1 ¢ : . A

(1) P79 Sgawe o= Q\(Z)‘s‘“@ﬁi'wéaéqﬁ?mm
(3) 3UERAIAS TFoE 4) 378 | P &

18. India is the growe &s
(1) Largest @ (2) Smallest

(3) Appropriate for nation need (4) None of these

RA STell T IS © |

(1) 3ifers/<arar 2) ®%

(3) g SRa @ forv yute (4) 378 9 B T8

’G-EE-2015/(Economics)/(B) P.T.O.



19. Human Rights Day is on:

(1) 24 February (2) 15 May

(3) 10 December (4) None of these
g AR R s €

(1) 24 B () 1598

(3) 10 feg=r (4) 37 | PIg TSI

20. India became a member of United Nations : %£

(1) 1949 (2) 1945 (3) 1959 \@’one of these

(1) 1949 | (2) 1945 (3) 1959 2 (4) 3 | DIg 8l

N
21. Green Revolution consists of : ’;\

(1) Mechanization YV seeds

(3) Fertilizer @4) All of these
*

&Ra wifsa # wfAe €
(1) #=rRoT (2) ST #on 4
(3) SHRB/TE N o @ A
22. The essaﬁ”iﬁciples of population was written by :
(1) The d Bank . (2) Julian Simon
(3) Abraham Lincoln (4) None of these
S & g W) g forar T4
(1) fawa d& g | (2) SIfera AGHA RT
(3) araTeH fofds gw 4) T ¥ o e

PG-EE-2015/(Economics)/(B)



23. Amartya K. Sen emphasis that having enough to eat depends on :

(1) Low Poverty Rate (2) Society's system of entitlement
(3) Income distribution (4) All of these

I Po WA 1 WK PR Pel © b WM D forg gata sF1 iR ovar #

(1) =F WNH T’ R (2) FHIS B! FHEN B THA R
(3) M faaror ) (4) T af

24. The following is not cause of food insecurity :

(1) War and bad governance (2) Aid from developed nal@

(3) Poor roads (4) Corruption & mismaNgg&ment
Qrel IRRET @ g e dRe 98§ O
(1) g& 9 §& WIR (2) fawfld I *
(3) T T$D (4) w=< gw.\
X\
25. Indices of income distribution measure : 6\
(1) Absolute Poverty ' ative poverty
(3) Standard of living . % conomic growth
I TR & gaH a0 ® \
(1) fRuet T 0 (2) wfa T
(3) BN BT R . (@) onfdfe wgfs
26. State Bank of IndgNg the name of a :
(1) CorporatiQ (2) Chemical Industry
(3) Organisation (4) Financial Institution

IRT BT Re I 99 ¥ U
(1) Fr™ @ (2) EEME SEURT &7

(3) HIET &7 ‘ (4) foxirg wwerr w1

PG-EE-2015/(Economics)/(B) | P.T. O.



27. Central Banking function in India are performed by :

(1) Punjab National Bank (2) State Bank of India
(3) Reserve Bank of India (4) None of these
ARG H B §6 & I by o &
(1) 9SmE et §F g (2) ®e I offw 3fisar grT -
(3) Rud 9% sifw sfosar g (4) T ¥ B w7E
28. Indian economy is : $
(1) Mixed economy- (2) Free economy \®
' (3) Socialistic economy (4) All of these Q
AR srefegaser ® . O
(1) faf¥m srefayazen (2) w@daa GJQ;JT
(3) AISTaTEY Sreferaeer < @ ﬁy N
29. Who is Father of Fconomics ?
(1) Adam Smith &2) Karl Marx
(3) Max Muller (4) None of these
e 1 foar 3 ?
(1) Ten Ray 0 (2) T AR
(3) ¥ TR . (4) 3 & B
30. Econom®y is published by : |
(1) Ministhy of Finance (2) Government of India
(3) Indian Statistical Institute (4) All of these
i Fderor g fahar i @
(1) fog H=merm gwa (2) 9RT WER NI
(3) ey wifere e g (@) 2 wir

PG-EE-2015/(Economics)/(B)



31. U.S. represents less than 5% of the world's population but produces a share of world's
output almost equal to :

1) 5% (2) 10% (3) 25% (4) 50%
IARST T B TAEHT AAR B FAGAT B 5% H FF & b GOR & IAE H ST
e &
(1) 5% (2) 10% (3) 25% (4) 50%
32. Malayasia, Mexico and Brazil are classified by World Bank : %
(1) Industrial Economies (2) Low Income Countries \ '
(3) Underdeveloped Countries 4) None of these O
faea 9% gr1 wAlRr, A &R softar & aifiga faar
(1) shenfire srefayawen () =1 g 2w

(3) saReR o @) RO
D

33. Which of the following is not a quasi-public@

(1) National defence n automobile
(3) Fire protection ’\ ) All of these
T | DIE-91 3 AEATE EhE ?

(1) g e () T SR

(3) 3T g Q’ @) ¥ wh

3
34. If export pric@ses 5 percent and import prices 20 percent, the commodity term

of tradeis:

(1) 091 (2) 0.88 (3) 0.25 (4) None of these

afy forata @i 5 gfier &R emar siwa 20 ufiea sedt B, @ R amuR R ©
(1) 091 (2) 0.88 (3) 0.25 (4) 378 | B3 A

PG-EE-2015/(Economics)/(B) 5P, O.
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35. The selling of Hundai car by its company in the USA than at home (Korea) is known
as:

(1) Dumping (2) Expor-t Substitution’

(3) Import Substitution (4) All of these

IARBT § U8 R DI D! HH FRT AT TR (BIRAT) B g7 ST o) @
(1) &qor (2) frata gforems

(3) ImaTa ufoRemaH (4) T T l

36. Bilateral aid :

(1) Is a technical aid given by IMF ' | Q
(2) Is given directly by one country to another O

(3) Isaloan at Banker's standard Q

(4) None of these

el e .a\%"
&

(1) T® qH Wera S IMF g1
(2) MY IR R UH I P gRI

3) 9% ® WEH W FUT ¥ ,A
(@) T Q P T Q\

37. Inflation is measure

(1) ConsqueJndex (CPI) (2) Depreciation

(3) Currenta nt (4) All of these
e i

(1) DT DD (2) '™

(3) =T @ (4) T 9

38. Direct taxes are :
(1) Property tax (2) Income tax
(3) Inheritance tax (4) All of these

PG-EE-2015/(Economics)/(B)



39.

40.

41.

42.

e TR B
(1) dafT & (2) T PR
(3) STNIMEAGR R (4) T

If higher income people give higher tax on income :
(1) Progressive (2) Regressive
(3) Excise tax (4) All of these

afe Iog AT AANT A W $Hal R ad o ¢

11

(1) s (2) wfermr \&
Lo ul

(3) JATHRT DY (4) I 90

X
™

Monetary policy affects the :

(1) Taxes, exchange rate (2) Money supply,%t rate

(3) Stock price (4) All of theﬁ

Afee Nfer wfag w2

1) =x, fafma (2)&%@1‘& =

(3) Tfh drHd

Which of .the following is nob@ent of the redistribution with growth policy
approach ?

(1) Minimum wage legi (2) Land reforms

(3) Progressive ta tic@ (4) All of these

g-faaRoT Hgfg T & e T e e R ?

(1) e TRl BT ) R

(3) S B (4) T 9N

The Currenéy of USA is :

1) '$ (2) € 3) % (4) None of these

'G-EE-2015/(Economics)/(B)
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aﬂﬁ?ﬂﬁgm%:
1) % (2 € @) X (4) 9 QA BIE 7RI

43. If the number of people classified as unemployed is 20,000, and the no. of people
classified as employed is 2,30,000, what is unemployment rate ?

(1) 8% (2) 8.7% (3) 9.2% (4) None of these

Ife RISATRT &1 |&T 20,000 9 ASTRT @Y |1 2,30,000 &, @ WE:

(1) 8% (2) 87% (3) 92% H PIE AL

44. Banks can create money : OQ

(1) By paying interest to their depositors

(2) By making loans that result additional degosits

XN
(3) By offering Financial services such aS\& ge

(4) All of these &6

ﬁiﬁﬂﬂwm%:

(1) amawﬁsﬁaﬁ‘mém’{
(2) O IHR S AR P ST 99T B
(3) foxirg Warg <

(4) 3 .

45. If intg@‘falls then bond price :
(1) Will *emain same _ (2) Willrise

(3) Will fall (4) None of these

Ife &1t ex fRel B, O dfs & dHa ¢
(1) @& & (2) "l

@) PR | @) T @ P T
PG-EE-2015/(Economics)/(B)
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Which is following example of fiscal policy. ?

(1) A decrease in welfare payment (2) A decrease in bank rate
(3) A decrease in tax rate (4) None of these

o T B IR A B 7

(1) HoaToT 3T ¥ Bl (2) =Tt &% # B

(3) B T H A (4) 37 | PIg

If the economy is near full capacity, the short run aggregate supply curve :

(1) Becomes flatter (2) Becomes steeper $

_ (3) Shifts to right (4) Shifts to left \
Afe apefaraven qof & B ASEE B, T STeudre FHY I 95
(1) |Adel a1 (2) FHY I O
(3) =TT TRG AT (4) 98 RS ST

48.

49.

LN
The aggregate demand curve would shift down if; \

(1) Government spending were increase (2) T% est rate decreased
e

(3) Taxes were increased supply were increased -
y supply

T |7 9 A B oRG g A -
\2) ot &) e ol

(1) RS Gl a7 o Q
(3) PX T A 0 (4) Ha1 S S o

To lower interest rate, ‘@ nk of India could :

(1) Buy securities . (2) Raise treasury bill rate
(3) Decrease mortey supply (4) All of these

TS X BH B D (Y WRA B I

(1) ufefar wea € | 2) @ e ) Fer €

(3) T&T 4Rt B B € @) A i

>G-EE-2015/(Economics)/(B) | . .. P.T.O.
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50. Which folloWing statement is true ?
(1) Micro Economics is study of whole units.
(2) Government has no influence over market price.
(3) Macro economics is concerned with individual units.
(4) None of these
ST W DA FUT T © 7
(1) e srfare T gHIsal BT AT HAT © |
(2) TR BT SR HIAT TR YA T8l 2 | $

(3) ufe srefere Tahd ol sHE 9 Fafd 2 | Q’&

@) T e |
51. Which is not an issue in macro econornics ? Q

(1) Relating to balance of payment . !
(2) The relation between inflation and u yment
(3) Determination of price in agric@sector
(4) None of these S A :
T | BT e 3 TE 2 ?
(1) YT FgAT |
(2) FERWIfd @ Y ey
(3) T 8 g PR

- 52. Instudying growth theory :
(1) Focus on the very long run
(2) Ignore recession and booms |
(3) Assume that all inputs are fully employed

(4) All of these
PG-EE-2015/(Economics)/(B)
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55.
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(1) afaq " BT W e

(2) T T AST BT AR PHRAT

(3) wF o € f W ST BT g WS AR ®
4) 3 W

Potential GDP is :

(1) Always greater than actual GDP (2) Growth rate of country @*

(3) Creates inflation (4) None of these Q\

Amed GDP R Q~
(1) &M IRaIs GDP ¥ 31 © C{2) < @ Yl X
(3) whIfer U1 HIAT © (4) T B -

A large transfer in federal budget is : @

(1) Defence N Q |
(3) Welfare @) Social security

G goic | STaT/ 3 SRR B

(1) e Q ‘ ) IR

(3) @ N (4) TS GRef

A person had an income of $ 20,000 last year and paid $ 10,000 as tax. This year, the
person had an income of $ 1,00,000 and paid $ 30,000 in tax. The marginal tax rate of
that person is

(1) 25% (2) 30% (3) 50% (4) None of these

G-EE-2015/(Economics)/(B) P.T.O.



16. ® B
U R B 3 $ 20,000 frser wrer o 3R g6d & SET $ 10,000 B2 7| 59 AT 99
fdd BT 3T $1,00,000 ® 3R $ 30,000 = 1| 9 Al &) Gaid o8 =% 2
(1) 25% @) 30% () 50% @) T & P

56. Which of the following is not included in M-1 ?
(1) Gold (2) Creditcards  (3) Stock (4) All of these
T W BT M-1 7 enfie € el € 2

(1) ® (2) v BT (3) wrw () A %
57. As per monetarists, in the long run, the Phillips curve is : Q\:

(1) Downward sloping (2) Upward slopi
(3) Vertical (4) Horizont
HTa) B AR, Y B ¥, o aw

(1) 9= B WG FHT g ) T BT
(3) Trgad

58. Which is an example of portfolig 1&2@nt ?

(1) A places his funds in lQ (2) A puts Rs. 1,000 in money market
)

(3) A purchases bank o (4) None of these
AREE e %@'ﬂ%‘m
(i)qemef' QAT & (2) U gaT 9NiR H §9IR ¥ STerdl &
(3) T 3 RYBT BT d @dedr & (4) H A B TE

59. The price of bonds and interest rate are :

(1) Not related (2) Positively related
(3) Negatively related (4) All of these

PG-EE-2015/(Economics)/(B)



df @ I X B DA §
(1) wdfea =& (2) FHRITE Haerd
(3) THRIHAS Hdfed (@) =8 | af

60. As interest rate falls péople hold money :

(1) More (2) Less (3) No change (4) None of these
Tt R RS | AT 8T R €
(1) ST (2) @4 (@) TRadw A& (4) T A DI 7

61. Which of the following types of economy describes the economy of t}@ ;

(1) Mixed Economy (2) Market Economy Q
o %oﬁmmwﬁﬁﬂﬁ%ﬁﬁ-@maﬁam
(1) fafdra srefegasen (2) 9I9IR 3

62. Suppose you buy Economics by David King. @15 opportumty cost of your

purchase ? : @

(1) The money you paid for book @

(2) The time you spend on studyin’ A

(3) Cost of producing bOOkO&

(4) None of these
maﬁmDavidK@a;ﬁmaﬁwmﬁﬁlmaﬂEaﬁmww%?
(1) e Ry

(2) forame wen # WY @Al

(3) foraE Sd” B A
(4) 37 A B &

PG-EE-2015/(Economics)/(B) . | B P.T.O.
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63. Aggregate demand is increased by :

(1) Increase in interest rate (2) Increase in taxes
(3) Increased consumer confidence (4) None of these
(1) = X & e | (2) BRI H g

(3) SUHIET BT MHATIT g2+ A (4) T A PIg &I

64. Aggregate supply increases when : N\ I

(1) Raw material price rise (2) Wages rise X
(3) Wages fall (4) All of these \Q
(1) &= et B ES T5d & @) T

@) o e 2 TS )

65. The ultimate increase in worker produzf@sually reflect :

(1) Growth of labour union 0
(2) Increased education an ved equipment
(3) Increase social securg

| (4) None of thesQ

qrIq H chlqcbcu T JMAAR TR gl &
(1) »m w9 @I gl

2) fem 7 3T SR 9gq ¥

(3) | GRe g |

(4) T 9 B3 A

PG-EE-2015/(Economics)/(B)



66. Investment in physical and human capital is encouraged by : e
(1) Lower taxes on interest income (2) Lower taxes on investment returns
(3) Lower taxes on returns to education (4) All of these
iR ot @ W Sl § Prde et g
1) =t 3 W e @ ) fraw ity w® =T B
(3) fRrem mfd R =T &R (4) 3 TN

67. Sustainable economic growth depends upon :

(1) Investment, not saving (2) Investment and saving &

(3) Neither saving nor investment (4) None of these

(1) fae, qaa € @) e g WQ

3) = s=q, 9 fFaw 4) 3T | H3 TE
68. Income disparities is measured by : 6

(1) Population growth rate ini Index

" (3) Gross domestic product . A one of these

g favre A O g Q
(1) S g ) e gEeie

(3) Wbl TXE, IS : @) 3 ¥ P TE
69. In developing r@ﬁs, the fraction of the economy in non-market transaction can
be as much
| (1) 10 percent (2) 25 percent
(3) 75 percent (4) 50 percent
Rrpraeiier 23§ AR qIOIR SR F SreferaRel B W E
(1) 10 wferera (2) 25 gfae
(3) 75 gfcrerd _ (4) 50 wferera

PG-EE-2015/(Economics)/(B) -~ P.T.O.
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70. Solow growth model says :
(1) Poor nations will grow faster than rich nations
(2) Rich will get richer poor will get poorer
(3) Rich will get poorer and poor will get richer
(4) None of these
Al Hyfy died dedl @
(1) ™9 I IR I P TG TN F qod
(2) IR ST MR T N9 SAET TG BN

(3) PR e BT 7 T SR B \L~
4) 37 A 3 | \(b'
™

71. Negative externalities is known as : " |
(1) Resource curse (2) Margl@a'mage

(3) Public good (4) E err;el diseconomies
THRIAS eI S e 2 ’@

(1) |~ femg AT Rt

@ wifmag AQ (&) AT PR

(1) Over fishing (2) Smoking in public place

(3) Excessive rai . (4) Common use of public toilets
W .mgw 27 -

72. Which of the followir%a@nple of tragedy of commons ?

1) N\ Sreafire gare (2) AEITS WM W gEIE

(3) JEIGRCLI  (4) SVt wrETem & e yEnT
73. Land and natural resources are considered as :

(1) Capital accumulation (2) Nonproducible

(3) Output (4) Common property resource

PG-EE-2015/(Economics)/(B)



74,

75.

76.

I T WHiie FEEE S S ¢

(1) I d=m - (2) Srgeare
(3) SR (4) 3MH Fufy HAwRE

Joseph Schumpeter is the exceptional economist who links the entrepreneur to :
(1) Oligopolistic Capitalism (2) Innovation
(3) Resource management (4) None of these

SIR% R Uo R aeferE € S Sel @ S ©

(1) sremfyerd Yofarg Q) ISR $

(3) SR USEH (4) 378 | BIE TE \

Which of the fcllowing is not an assumption of Schumpeter's st@Q state ?
®
(1) Perfect competition

(2) No economy below full employment -

(3) Technical change : | N 6 S
(4) None of these \
ﬁﬁﬁ?—?ﬁﬁmqﬁqﬁaﬁﬁmm@?a& g7

(1) 9ot wfefrar ’A
(2) BI3 IriegaRer gof ISR A '

(3) TEHAE aRads 0
(4) 3 | B T .
S
Which of the followin t a natural public monopolies ?
(1) Postal seryige ¢ (2) Electricity

(3) Water supply® (4) Mobile phone

T A B urpfae Qe yeiie 78§ ?
(1) =% J|ar (2) fasmet
(3) Sr@/qrr @ gft (4) AEEA B

21
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77. The emigration of highly skilled people from developing countries is known as :

(1) Brain drain (2) Productivity b
(3) Profit (4) None of these

e HIS AN BT ST fAwraehier <9 W, dEere ©

(1) uferr gamas (2) SAEHA

(3) @™ _ (4) 1 | @F 78

78. Simon S. Kuznets argues that the major stock of capitel of an ecow*aﬂy advanced
country is not its physical capital but :

(1) Natural Resources (2) Land Q\
Q)

(3) Body of knowledge (4) Quantityo
HIEAT THo guiied o od © e fasfia <o &Ase O duu swe eiRe GOl
T8 7 9

(1) ST e 2 gﬁ\
(3) S &1 HeR/aTS @ A 2
S

vided by labour force

79. The unemployment rate is :

*

(1) Employed plus unempl
(2) Labour force divide opulation
(3) Unemployed divided by employed

.
(4) None of t

.
(1) SISTTRY, SRISTIRY STHT BT /9 9fdd A fanrfora &
(2) =™ wofda & S=aEn g wwe

(3) SRS &1 AR ¥ faifra s

4) 3T 9§ B¢ TH

PG-EE-2015/(Economics)/(B)
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81.

82.

83.

84.

PG-EE-2015/(Economics)/(B)

In a production function y=f (L,K,N,T)y is:

(i) National product (2) Capital

(3) Natural resources (4) All of these
Iaed BT y=f(L K, N,T)y & : |
(1) LT IS (2) on

(3) UTHfaD AR (4) 3 A

The study of behaviour of the overall economy is called :

(1) Micro economics (2) Macro economics E$

(3) Positive economics (4) None of these \
Tt sreferaRe & FIER B AT B PEd € Q

(1) ge/fte sefeme (2) Afe e 0

(3) HHRIHE 3T (4) T | BIS TE

Three fundamental questions of economic organiza' N

(1) When, for whom and how (2) arld when

(3) How, what and for whom (4)éjaho and why

(1) 9, fres forg ok &9 ’;ﬁﬂaﬁfaﬁ?m

(3) B, Ta1 IR fpaas fo (4)&&1@?371??@

A situation in which limited resources are being utilized most effectively is called :
(1) Economic ( cte (3) Efficient (4) None of these
i Rerfer ! AT 37D GHR W FANT fHy S €

(1) anfdie (2) ®H (3) W& (4) 3 A Fg T

Cardinal utility theory assumes that consumer can :

(1) Determine marginal rate of substitution between goods
(2) Avoid the law of diminishing marginal utility

(3) Rank basket of goods as to their preference

(4) None of these

23
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G /oS YA Rigra Aar @ 6 SudieT or g § ¢
(1) g3l @ 9= fazemus & Aeiq <) PR e

(2) AHia SYAIRaT @ "ed ufdwe @ W @) FeRAT

(3) Txeile & fewme ¥ AMF /IRl B A B Us/ Afeg

(4) 379 | H1g 7

85. Which is factor of production ?
(1) Labour | (2) Land

(3) Capital (4) All of these . %

SAEA & d<wd P-4 & ?

M | @ @ 60’\'

(3) Yoi 4) 3 @{Q‘

86. Economié growth is depicted by : .
' (1) A shift in production possibilit%es fronf@ard
(2) A movement from inside the curv%%d the curve
(3) A shiftin thé production;’)oﬂ@s frontier inward

~ (4) None of these Q\

R wighy o e N

(1) SEmET SR K BT G18R Bl B Sl

(2 TF B a%’ P TR EATSA
3) m@amwmaﬁww

@ T A P T

87. Law of demand states that an increase in the price of a good :
(1) Increase in the supply of good (2) Decrease the demand of that good

3) Inérease the demand of that good (4) None of these
PG-EE-2015/(Economics)/(B)
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T @1 fram qarr & 5 avg A a9 W

(1) a%g = gfdf & gfg s & (2) 99 9K P AT "ed 7
(3) 6 9w B AT 95 o 2 @) T @ P 7@

Increase in the price of blue jeans leads to increase in the demand of shoes, then jeans
and shoes are : '

(1) Complements (2) Inferior goods

(3) Normal goods (4) All of these | $
Mmﬂﬁmmﬁq@ﬁﬁﬁﬁm?ﬁﬂmaqﬁ%:&
(1) /D (2) \=T "I O

(3) WM Ay 4) 3w Q‘

An inferior good is one for which an increase in ip &e‘ an:

(1) Decrease in supply () In@\in demand

(3) Increase in supply 4 rease in demand

AT ATl 98 € Sid MY 961 4 3?%\

(1) off % & e 2 (2) #fT ¥ gfg et @

(3) gfef & gfg it & (4) ¥f1 § &9 B @

Qo

The demand of theyol owing is most price inelastic :
(1) Transporta (2) Taxi rides

(3) Bus tickets _ (4) Airline tickets
=1 @) AT e da area B §

(1) Irarma (2) SFN Z=H

@) ¥ fewe @ s o Ree

PG-EE-2015/(Economics)/(B) < P.T.O.
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91.

92.

93.

94.

Look at series 2, 1, (%] , (—B P What number come next ?

(1) % ) % 3) -2- (4) None of these

(1) % ) % @3) % @) T @ PE &
Look at series 36, 34, 30, 28, 24, ....... . What number comes nex@

(1) 20 @) 22 3) 23 6@lone of these

soft &1 <RI 36, 34, 30,28, 24, ... IFTAT Fe=T T

(1) 20 (2) 22 (3) 23 (4) 3 | PIE T8
)

All the glitters are not gold : & \

(1) Only gold glitters " A (2) Metal glitters

(3) Not all metals glitter Q\ (4) None of these

(1) ®adt AT e 2) o1g THGN &

(3) = arg W] T (4) 3°H I B1E &

Every library has books :

(1) Books are only in library (2) No Library is without books

(3) Some libraries do not have readers (4) All of these

PG-EE-2015/(Economics)/(B)
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A% oresd # faard Bk €
(1) RGBT ¥ dad fbard ) framel @ TR FE TRDEA T

(3) BB GRABE | UISH Tl (4) I =0

95. A person walks at 5 km/h for 6 hrs and 4 km/h for 12 hrs. His average speed is :

(1) 8km/h 2) 6km/h

(3) 4km/h (4) None of these
qzﬁmﬁs%aﬁaqf%fW6wéaﬂuﬁmwmmuwéa%W%|
IFH airaa i § '

(1) 8fa#/=ver 2) 6 f&d/aver \Q’\,

3) 4 fFh/=ver @) T q BE & 0

96. 30% of a number is 12.6, find the number : 2

(1) 45 ) 38 @) 40 . 6’\4) 0
TF G BT 30% & 12.6, 98 FE&AT 9139 ¢ &6\‘

(1) 45 (2) 38 (3) (4) 42

L 4
97. What number must be added to 6, @8 to get an average of 13 ?

1) 22 @) 25 (3) 20 4) 18
6,169 8 H T H=AT ‘f%iwaﬁ'ﬂ?rlss‘r? |
1) 22 2) 3) 20 4) 18
.
98. What is the ratiQminutes tolhour? -
1 1 1 3
1) 5 2) pr (©) 1 4) 1
10 fFie @71 & Tve U T & ?
1 -1 1 3
0 3 2 - : @G 7 @ 3

>G-EE-2015/(Economics)/(B) P.T.O.
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99.

100.

A student is ranked 12th from right and 9th from left. How many students are there in
total ?

a) 21 @) 16 3) 20 4) 25

e faemedt &1 Qg @ 12 sk a1t @ 9 Vo R R, ot Rraw Rremeft § 2

1) 21 @) 16 (3) 20 @) 25

Look at the series 53, 53, 40, 40, 27,27 . vnenis What number shouldmnext ?
(1) 12 @) 13 @) 15 ( @

53,53, 40, 40,27,27 .......... T8 Ao éﬁam ST G=T

1) 12 ‘ ) 13 3) 15 Q‘ 4) 14

PG-EE-2015/(Economics)/(B)
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1. Which of the following types of economy describes the economy of the U. K. ?

(1) Mixed Economy (2) Market Economy
Jo Po P JfAwRN B 7 H | P-AT TRE I rfawe Hadr ?
(1) faf3ra sreferaxen  (2) IER referaver

2. Suppose you buy Economics by David King. What is opportunity cost of your
purchase ?

(1) The money you paid for book _
(2) The time you spend on studying book $
(3) Cost of producing book @
(4) None of these
A & a9 David King @ siefemes @€igm amed &1 | OWV@QW SINGHC
(1) frae & fog s 49 fRg
() framE vew ¥ W amE R )6
(3) fhae Swg @ AFTd 6\
(4) ¥ | B T Aé&
N

3. Aggregate demand is increased bQ

(1) Increase in interest rateg (2) Increase in taxes
(3) Increased consumer confidence (4) None of these

Hd AT T qAl *
(1) <O &R § Tein) ¢ (2) FRI H TGN

(3) IwirET FT T @) T QA P T

4. Aggregate supply increases when :
(1) Raw material price rise (2) Wagesrise

(3) Wages fall (4) All of these
PG-EE-2015/(Economics)/(C) ' P.T.O.



FA fdl gech & 9 :
(1) Pz 77 B A g8l & (2) wor gedt &
(3) ot firey ? | @) ¥ h

5. The ultimate increase in worker productivity usually reflect :
(1) Growth of labour union

(2) Increased education and improved equipment

(3) Increase social security %
(4) None of these Q\a

IRTT H AMGY P IATEHAT g1 AMAR TR FIA 8
(1)mﬁaaﬁﬂ§% ~ Q~
(2) R g S R T8 | .@”

() T e @ .{Q

4) 379 9 B3 T A@

6. Investmentin physmal an @apltal is encouraged by :
(1) Lower taxes on intere (2) Lower taxes on investment returns
(3) Lower taxes o s to education (4) All of these
v $oh 7 A Prrer wreaTfRa e @ -
(1) = PR 2) e o &R <E =X
(3) fRrem =T R (4) T

7. Sustainable economic growth depends upon :
(1) Investment, not saving (2) Investment and saving

(3) Neither saving nor investment (4) None of these

PG-EE-2015/(Economics)/(C)



e aTe wafy PR aed @
1) e, goa & ) e g T4
(3) 7 gga, 7 e (4) 39 | PIg Tl

8. Income disparities is measured by :

(1) Population growth rate (2) The Gini Index

(3) Gross domestic product (4) None of these

Iy frg /Y I € N '

(1) S dgfg &) (2) = gErdid $

() Wt R I (@) 9§ @ \’0’
9. In developing economies, the fraction of the economy in @ket transaction can

be as much as :

(1) 10 percent (2) 25 perce

(3) 75 percent (4) 50 p &Q

Rprerdier et # A% aToTY AR crefaraRer Qﬁ

(1) 10 ufaera

(3) 75 R ) 50 s

10. Solow growth model says:
(1) Poor nations will grow faster than rich nations
(2) Rich will get ricr’will get poorer

(3) Rich will get gaprer and poor will get richer
(4) None of th

WW&&"#@HW%
(1) e T MR I B T Ao A gFd &
(2) IR SUTET SR T TG SATRT R BN
(3) MR TRIg BRI 9 NI 3R BRI
(4) 378 & B3 T
PG-EE-2015/(Economics)/(C) _ P.T.O.



11. Which is not an issue in macro economics ?

(1) Relating to balance of payment

(2) The relation between inflation and unemployment

(3) Determination of price in agriculture sector

(4) None of these

T W BH-A1 e 7R &7 g8 78 © 7

(1) O dged | Hafed
(2) FERDIT g AR H Hay
3) BN &= # Braa @1 PR
(4) T ¥ P13 T

12. In studying growth theory :

(1) Focus on the very long run

(2) Ignore recession and booms

)

(3) Assume that all inputs are fully em§&i

(4) All of these : . A
(1) =fr <" &1 W)
(2) ¥ T TSN B IAIET DA

(3) A o ¥ ST T T E T R

4) 3 g

13. Potential GDP is :
(1) Always greater than actual GDP

(3) Creates inflation

PG-EE-2015/(Economics)/(C)

(2) Growth rate of country

(4) None of these



AWl GDP ® :
(1) &9 IRafis GDP @ qg1 & 2) 3 # wghy w
(3) wHfer AT BT B (4) 3 @ PE TE

14. A large transfer in federal budget is :

(1) Defence - (2) Police ‘

(3) Welfare (4) Social security

v qore # arEr/ o BT §

(1) geen (2) gfer (b.\L~

(3) P S (4) TS gRem Q’\'

15. A person had an income of $ 20,000 last year and paid $ OQ tax. This year, the
person had an income of $ 1,00,000 and paid $ 30,000 in ta%, The marginal tax rate of
that person is :

\
(1) 25% ) 30% 3) 50% @ (4) None of these

Wwﬁﬁaﬁ-am$2o,oooﬁaﬁwaﬁw®% SEY $ 10,000 FX R | 39 W I9

afad @ g $1,00,000 ¥ 3R $ 30,000 | S T Y WA TR R

(1) 25% ) 30% é\ ) 50% @) T QB @
16.  Which of the following is not Wgldded in M-1 ?

(1) Gold edit cards  (3) Stock (4) All of these

T ¥ DA MAT T B ¥ ? |

(1) @ ( )"m@ e 3) wi® @) ¥

17.  As per monetarists, in the long run, the Phillips curve is :
(1) Downward sloping (2) Upward sloping
(3) Vertical (4) Horizontal

PG-EE-2015/(Economics)/(C) ;3 P.T:O.



HRTATE & IR, 4" i #, Bfog ap 2
(1) =2 @) dR% FbT g (2) IR BT TRB T g3
(3) oI ad (4) afas

18. Which is an example of portfolio investment ?

(1) A places his funds in bank (2) A puts Rs. 1,000 in money market
(3) A purchases bank of U. S. A. (4) None of these

IR e fraeT IR B 7

(1) T 3 §& ¥ B TE@al © (2) T g 96IR H BOIR

(3) T TRIBT BT I WAL § 4) 3 @ B1g T \(b'

19. The price of bonds and interest rate are : OQ
(1) Not related (2) Positive@’ed

(3) Negatively related 4) All t}xc\ese
dfs q @ o Y B B \

(1) Fafera =g &

(3) THRISD NEIEK] A (4) T 9 |

20. Asinterest rate falls people Hol&§honey :
(1) More (2) Less

(3) No change (4) None of these
TS TR Qa—fr G &

(1) < (2) @7

(3) uRad= &l @) 379 ¥ Bg T
21. The study of behaviour of the overall economy is called :

(1) Micro economics (2) Macro economics

(3) Positive economics (4) None of these

PG-EE-2015/(Economics)/(C)



AUl FFIRAT & IIER B ILATT Bl PET & -
(1) ges1/<afe srefeme : (2) wHfte srefvm
(3) APRIHG JJIMRH (4) 37H A P1E T8

22. Three fundamental questions of economic organization are :

(1) When, for whom and how (2) th, how and when

(3) How, what and for whom (4) What, who and why

e WTeT & N SMIRYT e ®

(1) @9, s foy iR o (2) B, A AR B

(3) B, |7 AR fFas iy (4) @, B IR T \&
23. A situation in which limited resources are being utilized most effe &called :

(1) Economic (2) Scérce (3) Efficient ( e of these

T Rerfa R Aifg Sme o geR 3 wIRT fhe o

(1) s (2) ®H (3) e (4) 3 ¥ I3 T

24. Cardinal utility theory assumes that consume
(1) Determine marginal rate of substltutlorfg;ﬁen goods
t

(2) Avoid the law of diminishing ma ity
(3) Rank basket of goods as to thefrérence

(4) None of these Q

m/www@ﬁmﬁ%mw%%wﬁwmw%:
(1) oGt & 9 fae @1 WHE R FaiRa e

(2) i S Hrwer & Frem @ T
(3) WEiE B QAT /TG B SIH BT g5/ Aofiag
@) T @
25. Which is factor of production ?
(1) Labour (2) Land
(3) Capital (4) All of these

PG-EE-2015/(Economics)/(C) ‘ P.T.O.



IAEA & dvd P9 © 7

(1) =™ ) 9
3) i @) 38 ¥ ¥

26. Economic growth is depicted by :
(1) A shift in production possibilities frontier outward
(2) A movement from inside the curve toward the curve

(3) A shift in the production possibilities frontier inward

(4) None of these ‘ & ‘
(1) Sres g9ifad HieaR &1 a/ER ol dR% STl O
(2) I B AR P qh Dl TP gAAA

\
3) Wwﬁﬁmﬁw?ﬁm@

4) 37 A B TE &

27. Law of demand states thas an jf\créase in the price of a good :
(1) Increase in the ygood (2) Decrease the demand of that good
3) Increase the de of that good  (4) None of these

|7 &1 & 5 avg A Pa Fe1 W
(1)@ F gfg B B ) S I B AT TEA ©

(3) P HAT 98 S & (4) T 9 PR T

28. Increase in the price of blue jeans leads to increase in the demand of shoes, then jeans
and shoes are :

(1) Complements (2) Inferior goods
| (3) Normal goods (4) All of these |
PG-EE-2015/(Economics)/(C) |



el SV & BT ge1 | Sl B AJT Fed §, R S 7 o §
(1) ®®H (2) @ AT

(3) W A%y 4) A T

29. Aninferior good is one for which an increase in income cause an :

(1) Decrease in supply (2) Increase in demand

(3) Increase in supply (4) Decrease in demand

[T 91 98 & O A 984 A SHd) ¢ %
(1) off ¥ Ry () T ¥ gfy B & \,(b’
(3) ofct & gfy =xht ? (4)%1#@3‘@0\0

30. The demand of the following is most price inelastic
1N
(1) Transportation ) T@
(3) Bus tickets ‘ (@ir\e tickets

Prer 1 i S e e g <
(1) Q\,e)é-cﬂﬂm

(3) T4 fewe (4) a8 TE fewpe

.
31. In order to obtain@ome of Rs. 650 from 10% of stock at Rs. 96, one must make an

investment of & .
(1) Rs. 3,100 (2) Rs. 6,240 (3) Rs. 6,500 (4) None of these

650 U AT 96 TUY W FIh WAE BT 10 URw U T B U fbar 9 B
Tifgy ?

(1) 3,100 %o (2) 6,240 To (3) 6,500 To 4) T 9 BIg T

PG-EE-2015/(Economics)/(C) P.T.O.
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32.

33.

34.

35.

36.

India has largest deposits of what in the world ?
(1) Gold (2) Copper (3) Mica (4) None of these

AR ¥ 9RT & U SA1eT O fhadT § 7

(1) s (2) dfar (3) W (4) 3T & PIS T

How much seats belong to Haryana of Lok Sabha ?
(1) 10 @) 9 3) 11 (4) None of these
gRamn # wrme @ fa e € ?

(1) 10 () 9 (3) 11 \%& IS ol
India's first satellite is named after : O
(1) Aryabhatta (2) Bhaskarag

(3) Albert Einsteih 4) \\ﬂoﬂthese
. \
TRE @) Tgell Wege & AW f5d W TS \

(1) M 9ce YRR 11

(3) A TR ,Ag(zl)sﬂﬁﬁﬁs‘ﬂ%’f

In a normal human bo@%al number of red blood cells is :
TS

(1) 15 trillion (2) 20 trillion

(3) 30 trillion (4) None of these

TEH A T ATl g e 1w fa 27

(1) 15 (2) 20 fefera=

(3) 30 fefera (4) 3T A BIg TE
If speed of rotation of earth increases, the weight of body :
(1) Increases (2) Decreases

(3) Remain un.changed (4) None of these

PG-EE-2015/(Economics)/(C)
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38.

39.

IS gedl B g/ Fadh) @) VIR ded! 8, a1 IR BT AR

(1) dear & (2) @9 BraT ®
(3) dgorar A8 (4) ST A P15 T8
IDA stands for :

(1) Indian Development Agency

(2) Industrial Development Analysis

(3) .International Development Association
(4) None of these

 IDA &1 o w9 2 ¢

(1) ST Sgerud—< T
(2) zTSREIA Saogd—e TR

(4) 9 A g 7

India is the grower of pulses : 6

(1) Largest (2) @ est
(3) Appropriate for nation need ne of these

AR STl BT SAEH 2

(1) 31t /<areT 00(2) B

(3) I WToRA @ fory . (4) 79 @ I3 TE
Human Rights Dayfong .

(1) 24 February§§ (2) 15May

(3) 10 December (4) None of these
A9 AfHR T gedr @ ¢

(1) 24 HRa 2) 154

(3) 10 fea=r (4) 3T | P Tl

>-EE-2015/(Economics)/(C)
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40.

41.

42,

43.

44,

India became a member of United Nations :

(1) 1949 (2) 1945 (3) 1959 (4) None of these
HRT AR M BT A g7

(1) 1949 (2) 1945 (3) 1959 (4) 374 Q@ B8 T
Negative externalities is known as :

(1) Resource curse (2) Marginal damage

(3) Public good (4) External diseconomies 4, l
TAHRIAS FEIAT S AT @ @

(1) AT SrfHemy (2) A @axT Q’\'

(3) SIS T (4) 9=

Which of the following is an exarriple of tragedy of cor<n20ns ?

(1) Over fishing (2) gn public place

*
(3) Excessive rain (4 Q n use of public toilets
T J P IR 7 ﬁb |

(1) wsferat @ srcaferd THs @S)Wﬁiﬁmaws{am
.\A

(3) 3rcuferd /rfa aut (4) ARG SrETe BT A TANT

Land and natural resoutges dre considered as :

(1) Capital accumulation (2) Nonproducible
(3) Output ¢ (4) Common property resource
A a M ST ST §
NONC (2) orgeare
(3) ScureT (4) ma Huly dameEE

Joseph Schumpeter is the exceptional economist who links the entrepreneur to :
(1) Oligopolistic Capitalism | (2) Innovation

(3) Resource management (4) None of these

PG-EE-2015/(Economics)/(C)



SIRI% YIER e U9 femed € o Serlt @ ovsd ®
(1) sreuTfErar ofrarg (2) smfa=pR
(3) A yEEH (@) TTH | P T8I

15.  Which of the following is not an assumption of Schumpeter's stationery state ?
(1) Perfect competition
(2) No economy below full employment
(3) Technical change
(4) None of these

13

T A DI AT AR B ReR sraver @ FE# ® ? $
(1) ot wfenfn \@'
(2) B srferen T AR W A T AQ)
(3) bt uRadH | O
(4) T & P T Q‘
16. Which of the following is not a natural public mong S
(1) Postal service (2) Elec
(3) Water supply ' (4) We phone
9 A B WHIS ATdStE ?
(1) S/ war ENE
(3) ST/ AT @ tﬁr 0 (4) AN BIE
$7. The emigration of high d people from developing countries is known as :

(1) Brain drain (2) Productivity
(3) Profit (4) None of these
A IS AN HT IHAN Rpraeia T2 |, Bgarar @ ¢

(1) e germra= (2) I@TEHAT
(3) @ (4) T @ P

3-EE-2015/(Economics)/(C)
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48. Simon S. Kuznets argues that the major stock of capital of an economically advanced
country is not its physical capital but :

(1) Natural Resources (2) Land

(3) Body of knowledge (4) Quantity of labour
Tl © dfed

(1) wpfrd HHET 8 ) 4

(3) I BT HSR/4S! © (4) M @Y AT © ,l

49. The unemployment rate is :

(1) Employed plus unemployed divided by labour force §\
(2) Labour force divided by population @

(3) Unemployed divided by employed N

(4) None of these 0\\

(1) Wﬁéﬁwﬁmﬁ&w&mﬁam

(2) W\ ofad BT TAAET AT

(3) SRISTIRI BT USRI BT

4) 37 9 B .

50. Ina pro@fﬁnction y=f(L,K,N,T)y is:
(1) Nationd product ' (2) Capital

(3) Natural resources (4) All of these
ST B # y=f(LK,N,T)y & :
(1) ¥ S (2) Ion

(3) UIpfas FHE (4) T 0
PG-EE-2015/(Economics)/(C)
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Which of the following is not an element of the redistribution with growth policy
approach ?

(1) Minimum wage legislation (2) Land reforms

(3) Progressive taxation (4) All of these

gfaoRoer Wyl Y s & rer w8 awg e fam ?

(1) =TT FTh B 2) 4 QR

(3) SHfI (4) A T &
The currency of USA is : \Q’&

1 $ (2) € 3) X of these

SHRIDT B T &
1) $ 2) € @ X ’6(4) T A DY T

If the number of people classified as unem Q&i is 20,000, and the no. of people

classified as employed is 2,30,000, what i is u oyment rate ?

(1) 8% (2) 8.7% 0 9.2% (4) None of these
Ife RISFIRT H |=gr 20,000 G B G 2,30,000 B, A7 SRS &% 2
(1) 8% @) . 3) 9.2% @) T W P

TS
Banks can create

(1) By paying interest to their depositors
(2) By making loans that result additional deposits
(3) By offering Financial services such as brokerage

(4) All of these

-EE-2015/(Economics)/(C) P.T.O.
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b a1 I WA € ¢
(1) amﬁ?&ﬁaﬁmé‘cﬁ?
(2) T TR S AR iR S el @
(3) facia Harg AR S gerelt
(4) I =0

55. If interest rate falls then bond price :

(1) Will remain same (2) Will rise

(3) Wwill fall (4) None of these %
afe e &R e 8, o1 dfs @ B Q’&

(1) @& & (2) s :
(3) fafr 4) T ﬁ%‘
56. Which is following example of fiscal policy ?e S

(1) A decrease in welfare payment (2)%crease in bank rate

(3) A decrease in tax rate one of these

e i @ S B €2, L\
(1) Femr 39 ¥ 9 Q\ (2) =T &R B
@) TR H T 0 4) 379 | B T
57. If the economy is @ full capacity, the short‘ run aggregate supply curve :
(1) Becom@“cte; (2) Becomes steeper
(3) Shifts to Mght ‘ (4) Shifts to left
afe sreferaver qof adT & Fodle ¥, A e aHd o a5
(1) |ode 991 (2) FHA FAAT

(3) T TS T ' (4) TN TG AT

PG-EE-2015/(Economics)/(C)
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8. The aggregate demand curve would shift down if :

(1) Government spending were increase (2) The interest rate decreased

(3) Taxes were increased (4) Money supply were increased
T HAT 7w A @ e g AR

(1) TSR @i g7 AT (2) & R G A

(3) w T (4) o1 9 w4 o

9. To lower interest rate, the bank of India could :

(1) Buy securities (2) Raise treasury bill rate $

(3) Decrease money supply (4) All of these X¢
A R T T D Y ARG B I ' OQ
(1) sfrfe @ € ) T e

(3) &1 gfef &9 F=a & (4) 3 = )

10. Which following statement is true ? 6\
(1) Micro Economics is study of whole units &
- (2) Government has no influence over %ice.
(3) Macro economics is concerned wifiNdividual units.

(4) None of these
$TH W PIH-9T AT T © 7

(1) =afie srpfere ot T argae o 2|
(2) ARPBR BT IR gHTg FE B |
(3) wAfe sefames ool so1s & Hdfta )
(4) T @ 18 T
31. Green Revolution consists of :
(1) Mechanization (2) HYV seeds
(3) Fertilizer (4) All of these

3-EE-2015/(Economics)/(C) . P.T.O.
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=Ra wifta # wfia 8
(1) BT 2) Sz sl 4
(3) SRE/TR @) ¥ |

62. The essay on principles of population was written by :
(1) The World Bank (2) Julian Simon
(3) Abraham Lincoln (4) None of these

SreET & Rigr W uwe foran

() e &6 g () SR WEE a 2\l~

(3) omaTEd fofad & (4)3#*#@@%?@\0’&

63. Amartya K. Sen emphasis that having enough to eat d n:
(1) Low Poverty Rate (2) Society's S¢ste of entitlement
(3) Income distribution 4) Al thﬁse
arq?ﬁa%oﬂ?ﬁiﬂ?éﬁi’w%%@ﬁ‘cﬁ B iR &R
1) A N R R @ g B TG R

(3) 3 faaRoT W @&1) J
&
64. The following is not cause o@insecurity -

(1) War and bad govegpan (2) Aid from developed nation

(3) Poor roads ' (4) Corruption & mismanagement
ATEl STERET B % wwor 7R

(1) g d (2) Rl s & FEE

(3) TR g (4) ¥ T YT

65. Indices of income distribution measure :
(1) Absolute Poverty (2) Relative poverty
~(3) Standard of living (4) Economic growth

PG-EE-2015/(Economics)/ (@)}
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I AR & gaF A ®
(1) FRver e ) =l T
(3) & BT WK (4) snfde wgfy

66. State Bank of India is the name of a :

(1) Corporation (2) Chemical Industry

(3) Organisation (4) Financial Institution

YRT BT WL 9b 9H 8 TS ¢ ,

(1) e &1 (2) afEd SERT & &

(3) |BH BT (4) foig dIm= &1 Q’&
67. Central Banking function in India are performed by : Qp

(1) Punjab National Bank (2) State Bank of Indi

(3) Reserve Bank of India (4) Nonep 5

e 3 Do e B B Fy o & 6\

(1) doTE A9 d§& §RT () J& 3ifp sfosar gRI

(3) Rerd ¥ aifm g g - L\ T

68. Indian economy is: OQ

(1) Mixed economy (2) Free economy

(3) Socialistic economQ ¢ (4) All of these
IR sreicgawell 2 \N\, o

(1) faf3a sreieres (2) wacs srefeaRe
(3) AHTSTATS] JrefeaRed (4) I 0

69. Who is Father of Economics ?

(1) Adam Smith (2) Karl Marx

(3) Max Muller (4) None of these ‘ v
G-EE-2015/(Economics)/(C) P.T.O.
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70.

71.

72.

73.

srefare @1 T B ® ?
(1) veH R ' (2) et AT
(3) ¥ oR | (@) T ¥ B T

Economic survey is published by :

(1) Ministry of Finance (2) Government of India
(3) Indian Statistical Institute (4) Allof these
R e st A S § | ‘ l
(1) R #ared g/ (2) WRA FRBR GRI @
(3) AR Fikerara | &Rl (4) J | \Q
Look at series 2, 1, ( ) ( ) ....... What number co @ Q
1 1
(1) 3 (2) 5 3 @ (4) None of these B
1 1 .
s Y AR 2,1, H@A B ?
1) 3 @) l ) = @) T ¥ B &
Look at series 36, 34, @24 ....... . What number comes next ?
1) 20 Q 3) 22 3) 23 (4) None of these
3 34,30,28,24, ..o st e @ g ? |
(1 20 2) 22 (3) 23 (4) 3 | B RG]

All the glitters are not gold :
(1) Only gold glitters (2) Metal glitters
(3) Notall metals glitter (4) None of these

PG-EE-2015/ (Economics)/(C)
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T TS a1 @1 T BN

(1) daat AT THBaT & (2) g T ?

(3) 9t g1 TE THH (4) 3 @ B T8

Every library has books :

(1) Books are only in library (2) No Library is without books

(3) Some libraries do not have readers (4) All of these -

Y% g A fhard B €

(1) =BT # dae fbam (2): foamEl & TR B

(3) B FwE ¥ o @ ¥ wh \Q’\,

A person walks at 5 km/h for 6 hrs and 4 km/h for 12 hrs Qage speed is :
(1) 8km/h (2) 6km/h @

(3) 4km/h (4) NoP es®

U& 3T 5 fdeiiier ufd et 6 w02 aik 4 TUeT 12 "9 & fory Frerar 2 |
SAERCIGGAI

(1) 8 frd/sver ‘Eii}%ﬂﬁ/zmen

(3) 4 ft/goer ‘~:§h) T ¥ BIS T8

30% of a number is 12.6, fin@umber
(1) 45 Q (3) 40 (4) 42
TF T B 30°/§ T IR |

(1) 45 ) 38 (3) 40 | (4) 42

What number must be added to 6, 16 and 8 to get an average of 13 ?

(1) 22 (2) 25 | (3) 20 . @) 18
6,169 8 % @1 WA W WMv Rrgar aigg 138 ?
(1) 22 (2) 25 (3) 20 (4) 18

PG-EE-2015/(Economics)/(C) : P.T.O.
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78. What is the ratio of 10 minutes to 1 hour ?

1 1 1 3
O < @ < G @ 3
10 fAe &1 T |9 S guTd &1 © ?
M < @ < - G ; @ 3

79. A student is ranked 12th from right and 9th from left. How many students are there in

total ?

1) 21 2) 16 (3) 20 (4) 25\ l

v e o1 ¥ W 12 3R a¢ & 9¥& A1 7, o fbad b ?

(1) 21 ) 16 3) 20 Q~ 4) 25

80. Look at the series 53, 53, 40, 40, 27, 27.......... t nymber should come next ?
*
(1) 12 ) 13 @ 4) 14
53,53, 40,40,27,27 .......... a‘gﬁ%mmmwsﬁm%q?
*

81. If an increase in price of a good has no impact on the total revenue in that market,

1) 12 (2)\30\ 3) 15 (4) 14
L

demand must

(1) Pric@. (2) Price inelastic

(3) Unit phce elastic (4) All of these

A TR A PG T A AR F Gl A W YHIG T g 8, 1 98 IR AT R
(1) @Wa a= (2) DA AA

(3) IR IHAT A @) I T

PG-EE-2015/(Economics)/(C)
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34.
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Which of the following markets would most closely satisfy the requirements for

competitive market ?

(1) Electricity (2) Milk

(3) Cable television (4) Cola
Wﬁaﬁqﬁwﬁmﬁwaﬁmﬁv@zm%?
(1) fasreh (2) qw

(3) daa cefasT (4) Brem

(1) Double (2) More than double

(3) Less than double (4) None of these O
Wuﬁvﬂwﬁtﬁémmwm%a‘rsﬂaﬁz@am:Q‘
(1) =T et Q) TR Sy
(3) W & B By (4) T e

If a competitive firm doubles its output, its total revenue : \0'

A monopolist maximizes profit by producing tl‘%@nﬁty at which :
(1) Marginal revenue equal to marginal Q

(2) Marginal revenue equals priCQQ\

(3) Marginal cost equal to price

(4) None of these Q ¢

UHTRIR W Wmmmmw:
(1) i s 7 Aid e aeree 2

(2) MHIT T BHT B xrEw 2

(3) wHIT T Brad B aRrEw &

4) ¥ ¥ 3 T

P.T.O.
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85. The efficiency associated with monopoly is due to :

(1) Overproduction of goods (2) The monopoly's profit
(3) Underproduction of goods (4) None of these
THTRER F &l I & F9

(1) aegalt BT SATKT IATEH (2) O BT ™

(3) RGRIT BT B I (4) 3 & g T

86. The reduction of tax: @k
(1) Will have impact on tax revenue Q\

(2) Causes a market to become less efficient

(3) Could increase tax revenue if tax rates are high Q~
(4) None of these *

PR " 9 ¢

(1) IR I T THIG TS &6

(2)mﬁzﬁqmmm @
(3) mmwmaﬁfﬁv
(4) 3T A PR T 0

87. When a tax on @ 1 8tarts small and is gradually increased, tax revenue :

1) wn@. (2) Will rise

(3) Will £t fall then rise (&) Wil first rise then fall
mﬁﬂﬁaﬁwmaﬁsraﬁ?eﬁ%m%,aﬁmm:

(1) = | i ) s

(3) uear frefr R wel (4) vEer gl R Al

PG-EE-2015/(Economics)/(C)
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If a buyer's willingness to pay for a car is Rs. 20,000 and she actually buy it for
Rs. 18,000, her consumer surplus is :

(1) Rs. 20,000 (2) Rs.2,000

(3) Rs. 18,000 (4) None of these

aﬁﬁmwma%mzo,oooméﬁaﬁmwﬁ%eﬁ?agwﬁ18,0006traﬁ
@g ol 8, O SEB STHRT I R

(1) 20,000 %o (2) 2,000 %o $

(3) 18,000 %o (4) ¥ 9 BE T \
If a market generates a side effect or externality, then free mark s@?ns :
(1) Are efficient _ "~ (2) Areinefficient Q‘
(3) Are equitable (4) None of thes N
A TH IR e T gER gATa AT e € & qad '
(1) werw & | @
@) T & (4)A ¢
* :

N\

. The tax burden heavily falls on sel rQ
(1) Clothing (2) Housing

(3) Entertainment P (4) Food
X BT garg fasar m@w £
.

(1) * %\ (2) =

(3) TR . @ =mm

U. S. represents less than 5% of the world's population but produces a share of world's
output almost equal to :

1) 5% @) 10% B3) 25% 4) 50%

-EE-2015/(Economics)/(C) P.T.O.
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IARBT I B TAERT TR B TAART B 5% I 9 & AfhT GAR P SqTG H o T
= g

(1) 5% 2) 10% (3) 25% 4) 50%

92. Malayasia, Mexico and Brazil are classified by World Bank :
(1) Industrial Economies (2) Low Income Countries

(3) Underdeveloped Countries (4) None of these
favg 9% gRT HARMN, AfFaed! iR wofie & affea fbar

1) e srfarazer ) o o 2w &
(3) s (4):@@%@0’\,

93. Which of the following is not a quasi-public good Q‘
obile

(1) National defence (2) An aut

(3) Fire protection 4) A of;bese
mam.mwmmﬁ%?'6

(1) ¢ em

(3) M FEg (4) i w?r

94. If export prices increases %@* and import prices 20 percent, the commodity term

of trade is :
(1) 0.91 , (3) 0.25 (4) None of these
afe frata aﬁvmﬁaﬁﬂazommﬁ,a‘rﬁvmw%:
(1) 0.9 ¢ (2 08 (3) 0.25 (4) 3TH & P L
95. The selling of Hundai car by its company in the USA than at home (Korea) is known
as:
(1) Dumping (2) Export Substitution
(3) Import Substitution (4) All of these
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IARBT H §U8g PR BT THAD! T §RT AT TR (HIRAT) B Iog o= 7 @
(1) &g ) Frafa afemes
(3) ImuTa yfoRermud (4) 3 f

. Bilateral aid :

(1) Is a technical aid given by IMF
(2) Is given directly by one country to another

(3) Isaloan at Banker's standard

(4) None of these - $

fguefa wgrya \
(1) Yo Th-itd! |ergdr §if IMF gRT &) ol @ \Q
(2) € R R TF 29 B ERT R I BT 4 Qp

- (3) 9% B AMD W KT

(4) T § P & é\,\%"

Inflation is measured by :

(1) Consumer Price Index (CPI) 2) E@Xtion

(3) Current account C4\ of these
THIfT AT ST ©
(1) SYHIT HHAT FaABID (2) 'E

3) dle] @rdr Q .
Direct taxes are: . _
(1) Property tax (2) Income tax

(3) Inheritance tax (4) All of these
T IR T |

(1) Fuly &= (2) IMT I

(3) STRIFPR FR 4) ¥ wh

.E-2015/(Economics)/(C) - P.T.O.
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99. If higher income people give higher tax on income :

(1) Progressive ‘ (2) Regressive
(3) Excise tax | (4) All of these
o Ioa o AT I W S B A E
(1) s (@ wRemh
(3) BN HR 4) A =i
100. Monetary policy affects the :
(1) Taxes, exchange rate _ (2) Money supply, inte%
(3) Stock price | | (4) All of these Q
A N wfrd = # - ~O
1) = AR (2) F=T w
(3) i dHa @) 2 N

o
R\
\)Q\
Q .
Q
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1. Green Revolution consists of :

(1) Mechanization (2) HYV seeds
(3) Fertilizer (4) All of these
BRa wmifa # i 2
(1) wefraor (2) ST g fiw
(3) SRFB/TE 4) 3 f
2. The essay on principles of population was written by : : $
(1) The World Bank (2) Julian Simon \'@'
(3) Abraham Lincoln (4) None of these Q
SHEE & Riga R e forar ma O
(1) fw ¥ g () ferm wgHA
(3) srmEH fofde grT (4) ™ A ?;@
*
3. Amartya K. Sen emphasis that having enough@&epends on:
(1) Low Poverty Rate | clety's system of entitlement
(3) Income distribution 1l of these

anai%ﬁwﬁaﬁvémm%%& fore gt M1 friR @ §

(1) =1 Nt R W) 0 (2) HHTS P EHIN B Igfa W
(3) 3ma faaver w @) 3 =f '

.
4. The following is not@of food insecurity :

(1) War and had etnance (2) Aid from developed nation

(3) Poor roads (4) Corruption & mismanagement
Qe IRgReT & forg oy sRor 78 2

(1) I 7 g8 IR (2) faofa I & Hergar

(3) RN WD (4) I T HYEEH

PG-EE-2015/(Economics)/(D) P.T.O.



5. Indices of income distribution measure :

- (1) Absolute Poverty (2) Relative poverty

(3) Standard of living (4) Economic growth
I faoRor & FaF A © ¢
(1) fARYer TR | (2) wefRya T
(3) V& BT WK (4) anfdfe wgfg

6. State Bank of India is the name of a : $
(1) Corporation | (2) Chemical Industry @'
(3) Organisation (4) Financial Instit
YR $T e b M & T %6
(1) ™ @1 (2) IS BT
(3) TS B @), RO T

7. Central Banking function in India are p \d by :
(1) Punjab National Bank @2 State Bank of India
(3) Reserve Bank of India ’\ (4) None of these
IR # d1g 96 & @ g
(1) USITg A b gRT (2) T 9% 3w 3fvsaT gRI
(3) Rud dw 3 L (4) T X P13 TE

.

8. Indianec is :
(1) Mixed economy (2) Free economy
(3) Socialistic economy (4) All of theseb
TR SFefegaver ®
(1) T srefaaven (2) add rfeaRel
(3) ATSIATGT refgaven (4) ¥ =i

PG-EE-2015/(Economics)/(D)



9. Who is Father of Economics ?

(1) Adam Smith (2) Karl Marx
(3) Max Muller (4) None of these
- efee @ fuar i e ?
(1) vsH W1 grT (2) Pt ATRA GRT
(3) AT HoR ERI 4) T | IE 7
10. Economic survey is published by : $ |
(1) Ministry of Finance (2) Government of India \®'
(3) Indian Statistical Institute - (4) All of these Q
3nfdfe Hderor YT fbar Sir @ O
(1) o #=mer gRy (2) IRAT WER
(3) 9Rd™ ARSI ARIE gRT (4):&@% N

11. U.S. represents less than 5% of the world's p, \on but produces a share of world's
output almost equal to :

(1) 5% 2) 10% Qa) 25% @) 50%
aﬁﬁméwaﬁmﬂwwb@@naﬁwoﬁw%éﬁﬁwaﬁwﬁm
femar &

(1) 5% @ (3) 25% (4) 50%

12. Malayasia, M@a Brazil are classified by World Bank :
(1) Industrial EC®nomies (2) Low Income Countries

| (3) Underdeveloped Countries (4) None of these
foeg do g1 7R, AT SR AN BY e far
(1) ienfire srefaraver (2) /¥ 3ma <=
(3) Srcufadlya < (4) 379 & B T

PG-EE-2015/(Economics)/(D) P.T.O.



13. Which of the following is not a quasi-public good ?

(1) National defence (2) An automobile
(3) Fire protection (4) All of these
T PI-aT ond e awg TE § ?

(1) g e 2) TP SfcHEE
(3) ST = (4) T i

14. If export prices increases 5 percent and import prices 20 percen't,. the%modity term

of trade is :

1) 091 2) 0.88 (3) 0.25 ne of these

af> Prrta g 5 TR 3R ST Hd 20 SR seiry, WA @R W §
(1) 091 (2) 0.88 (3) 0.25 (4) 3T & B TR

1N
15. The selling of Hundai car by its company fr\ A than at home (Korea) is known

as:
@S Export Substitution

(1) Dumping A
*
(3) Import Substitution \ (4) All of these

AR # gueg dR B ERT IO TR (@IRAT) B IO A S
(1) &9or . (2) frata gl
(3) 3mard &@ : (4) 3 |

L

16. Bilateral ai8y
(1) Isa teéhnical aid given by IMF
(2) Is given directly by one country to another
(3) Is'aloan at Banker's standard

(4) None of these

PG-EE-2015/(Economics)/(D)



fguefrar emar :

(1) To dd-ia! Ferddr ot IMF gRT € ot @
2) ¥ IR W (& U D §RT TR < B
(3) ¥ B AFD W FI ?

(4) =T | BIg TE
17. Inflation is measured by :
(1) Consumer Price Index (CPI) (2) Depreciation
(3) Current account (4) All of these %
THIfer A A B @,
(1) STHIET HFT FaAbiD 2 '« Q’\'
(3) =Te] @ 4) 3 O
18. Direct taxes are : Q~
(1) Property tax (2) Income%
(3) Inheritance tax (4) All x
JeT IR © é
(1) wuRy &=
(3) STRITGR B %
19. If higher income people glve@r tax on income :
(1) Progressive (2) Regressive
(3) Excise tax (4) All of these
afe =g g R S A E
(1) wafaeia (2) wfemma
(3) JAEHRT IR 4) 3

20. Monetary policy affects the :
(1) Taxes, exchange rate (2) Money supply, interest rate
(3) Stock price (4) All of these
PG-EE-2015/(Economics)/(D) ' | P.T.O.



Hifew N warfdd s € -
(1) &=, fafrrm = (2) ¥a1 gfd, = &)
(3) i B (4) T =R
21.  Which of the following is not an element 6f the redistribution with growth policy
approach ?
(1) Minimum wage legislation (2) Land reforms
(3) Progressive taxation (4) All of these
R gy AT o @ W 7 T e R ? N\
(1) LT ATGA DL (2) 4 gur (b"

(3) S &N 4) 3 h 60
22. The currency of USA is : @

1 $ (2) € 3) X N (4) None of these
3T @ R ® "\& ‘
M $ @ € .&@? (@) @ T T

23. If the number of people clas Qas unemployed is 20,000, and the no. of people
classified as employed is 2,@ what is unemployment rate ?

(1) 8% (INS. (3) 9.2% (4) None of these

IfE R @20,000& AR @Y F=T 2,30,000 2, AT RISHRY &R &
(1) 8% o () 87% (3) 9.2% (4) 39H & P13 B

24. Banks can create money :
(1) By paying interest to their depositors
(2) By making loans that result additional deposits
(3) By offering Financial services such as brokerage
(4) All of these

PG-EE-2015/(Economics)/(D)



9% T 991 |Wahd ® ¢

(1) SHTHar & st JaR

(2) T R S AR SrfalRad ST 9=k '
(3) frfra amd <= S TaTen

(4) T =

25. If interest rate falls then bond price :

(1) Will remain same (2) Will rise

(3) Will fall (4) None of these \@k ‘
af e o e 3, 1 dfs & @ \Q

(1) T8 = ) s O

3) firaf (4) T A PR

26. Which is following example of fiscal policy ? * 6
(1) A decrease in welfare payment ( %ecrease in bank rate
c é;\N

(3) A decrease in tax rate one of these

W?ﬁﬁrzﬁwwaﬁ:fﬁ%?o
(1) deawr <7 § B4 (2) =Tt &% F A

(3) PR R H A OQ (4) 379 | ®IE TB

27. 1If the economy is % Ibcapacity, the short run aggregate supply curve :

(1) Becomes fl¥ere (2) Becomes steeper
(3) Shifts tﬁf (4) Shifts to left
Ife Sreferavern qul e & FordIE B, A JTeddTel WY gfeh I ¢
(1) Werel S () T T

(3) T TRE I . (4) IT B AT

PG-EE-2015/(Economics)/(D) P.T.O.



28. The aggregate demand curve would shift down if :

(1) Government spending were increase (2) The interest rate decreased

(3) Taxes were increased (4) Money supply were increased
I AT 9 S @ R g A

(1) TSR @At 91 A 2) @ ® Tt A

(3) PR TG & (4) Ha1 ofif 9t & \&

29. To lower interest rate, the bank of India could :

(1) Buy securities _ (2) Raise treasur@%e

(3) Decrease money supply (4) All of t@~

ol T T B B g 9RA B 9F ¢
(1) wfenffr = dea € et &% 9e[ &
(3) F&T I H B © é‘%awﬁ |

30. Which following statement i

(1) Micro Economics iS S of whole units.

(2) Government has no [Rfluence over market price.

(3) Macro ec sis concerned with individual units.

(4) None ése

T QPO BT Tl © 7

(1) m&aﬁmwmmmm%l
) Wﬁrwmwwaﬁél

3) eRe arRieRE THd ol geTe A el B
4) 3 | FIS T
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31. If an increase in price of a good has no impact on the total revenue in that market,

demand must be :
(1) Price elastic (2) Price inelastic
(3) Unit price elastic (4) All of these
uﬁmﬁmmﬁmﬁcﬁmﬁmﬂﬁm%ﬁaﬁwﬁﬂ%:
(1) @wa < (2) BT AT
(3) BT Bra A @) 3 f

32. Which of the following markets would most closely satisfy th&@hements for
competitive market ?

(1) Electricity (2) Milk O
(3) Cable television (4) Cola Q~
< @ P @ IR wfEnh AR A e BH FK| T 7
(1) fasteh @) é\'
(3) et e | é\

D

33. If a competitive firm doubles i@ , its total revenue :

(1) Double 0 (2) More than double
3) Less than double (4) None of these
Ts wferanft oH T AR 2, T T B I
(1) ATH Q (2) AT & v el
(&W%M ) T | P T

34. A monopolist maximizes profit by producing the quantity at which :
(1) Marginal revenue equal to marginal cost
(2) Marginal revenue equals price )
(3) Marginal cost equal to price

(4) None of these

PG-EE-2015/(Economics)/(D) P.T.O.
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35.

36.

37.

QWWWdI’H d@ldl%"ﬂﬂl?ﬁfdﬂm"i Cb‘ifbmq_\’i
(1) i o g A T RER 2 (2) i 3T DG @ aRER 8
(3) AT ANTT BT B RER © (4) 39H | B AT

The efficiency associated with monopoly is due to :

(1) Overproduction of goods (2) The monopoly's profit

(3) Underproduction of goods (4) None of these

(1) TRGRAT BT SGTaT SedTe- (2) TP BT T $
(3) Al T P ST (4)3—«!1#@@%?%\0

The reduction of tax : @

(1) Will have impact on tax revenue

(2) Causes a market to become less efficieft 6

(3) Could increase tax revenue if tax r@ high

4) ‘None of these A@
P A | ¢ Q
(1) PR MT W YA q%b

(2) 9OTR #

(3)&7'% afg B TR SI1ET @ B
(4) 3= T

When a tax on a good starts small and is gradually increased, tax revenue :
(1) will fall (2) Will rise

(3) Will first fall then rise (4) WIll first rise then fall

PG-EE-2015/(Economics)/(D)
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41. In order to obtain an income of Rs. 650 from 10% of stock eit Rs. 96, one must make an
investment of :

(1) Rs. 3,100 (2) Rs. 6,240 (3) Rs. 6,500 (4) None of these

650 STA A 96 T P Wik @IT H1 10 R wa FRA B g foa e wm
BN

(1) 3,100 %o (2) 6,240 To (3) 6,500 To (4) T A PIg A8

42. India has largest deposits of what in the world ?

(1) Gold (2) Copper (3) Mica ~ (4) No *Hese
HER ¥ MRd ® 9 SgTaT o fhaT @ P

N
(1) = (2) dfer (3) HigdT égﬁﬁaﬂé?ﬁ

43. How much seats belong to Haryana of Lok Sabha ? 2

(1) 10 ) 9 3) J@ » (4) None of these

Ramn 3§ e @ feah A § ?
(1) 10 ) 9 11 () 3T A PE TE

L 4

44. India's first satellite is named @
(1) Aryabhatta (2) Bhaskara II

(3) Albert Einstei (4) None of these
2
YRd & g8gall ﬁ%@w 99 fhg 9= uer ?

1) s ¢ ) R 11
(3) areae (4) 39 & BIg T

45. In a normal human body, the total number of red blood cells is :
(1) 15 trillion (2) 20 trillion
(3) 30 trillion (4) None of these

PG-EE-2015/(Economics)/(D)



46.

47.

48.

T A AT IRR § ol GF Aol P G&7 fba & 2

(1) 15 fefer (2) 20 feferm=

(3) 30 fefermm (4) 3 | P TE
If speed of rotation of earth increases, the weight of body :
(1) Increases (2) Decreases

(3) Remain unchanged | (4) None of these

IS gt &1 g1/ Famx B IGAR dedl 8, d IR BT ¥R ¢

(1) 91 & ' | (2) ®H BaT & ®\'&

(3) gEear e 4) 3T A B TE \

IDA stands for :

(1) Indian Development Agency Q
(2) Industrial Development Analysis , N
(3) International Development Association ’\\

(4) None of these

\
IDA &7 gof &7 ® ’AQ

(3) FUCTRIE SaagHe (4) T ¥ P E
3
India is the grower o ses :
. .
(1) Largest (2) Smallest
(3) Appropriate for nation need (4) None of these

HRA TTell BT STEH §
(1) 21frp /SameT (2) &
(3) Ig SeRA B forw yatw (4) 3 9 P T8

PG-EE-2015/(Economics)/(D)
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49. Human Rights Day ison:

(1) 24 February (2) 15May

(3) 10 December (4) None of these
e AfeR f&F gedr © ¢

(1) 24 HRaQ 2) 1592

(3) 10 fewa (@) &7 @ P =

50. India became a member of United Nations :

(1) 1949 (2) 1945 3) 1959 (4) N‘@niese

ART G ¢ BT A 97 ¢

(1) 1949 (2) 1945 (3) 1959 Q@sﬂﬁ | Pl Tl

51. Negative externalities is known as :
(1) Resource curse @damage

(3) Public good | (@rnal diseconomies

RIS &Il ST S @
(1) FErE STy A(z)@mw
(3) WS 9% 0 (4) FTET STuficreafiET

52. Which of the followjag is an example of tragedy of commons ?
(1) Over fishi Q (2) Smoking in public place .
(3) Excessig ‘ (4) Common use of public toilets
T W - 3 I ® 7
(1) wofert & s dohs (2) AESIG A W EHA
(3) g /afa aut (4) TSI SraTerd BT 3H YT

PG-EE-2015/(Economics)/(D)
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Land and natural resources are considered as :

(1) Capital accumulation (2) Nonproducible

(3) Output _ (4) Common property resource
A T UThide FEEE S O §

(1) qom e (2) srgeamer

(3) SwreH | | (4) I AUl A~

Joseph Schumpeter is the exceptional economist who links the entrepreneur to :

(1) Oligopolistic Capitalism (2) Innovation _
(3) Resource management (4) None of these \(b'

SR TfreR T G o) & o S @ wed § - é§>

(1) sreare dofiarg () R 4QF

(3) WA YEuT | @) T I P TE

(1) Perfect competition

| “
Which of the following is not an assumption of Schué@tationery state ?
(2) No economy below full employment @

(3) Technical change ¢

(4) None of these Q\

T A B AT gfaer A o B TE E ?
(1) got gfeafiran .

(2) B3 efegaRen ot GGl

Which of the following is not a natural public monopolies ?
(1) Postal service (2) Electricity
(3) Water supply (4) Mobile phone

IE-2015/(Economics)/(D) | P.T.O.
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S ¥ P TR WD e T8 S ?

(1) S |t ) Rl

(3) STA/Trr @ g  (4) WETSA B

57. The emigration of highly skilled people from developing countries is known as :
(1) Brain drain ' (2) Productivity
(3) Profit v (4) None of these

(1) wferdr gera= (2) SATEHAT $

(3) (4) ¥ 9 P T \

58. Simon S. Kuznets argues that the major stock of capital &onomically advanced
country is not its physical capital but :
(1) Natural Resources (2) Land Q
(3) Body of knowledge @) w of labour

(1) TTpRre e 2 @ ) f 2
(3) I T HeR/dET & ’\A (4) 59 P AT &

59. The unemployment r@o

(1) Employed plus unemployed divided by labour force
(2) Labour foreg iged by population

(3) Unempldyed divided by employed

(4) Non hese

R &R -

(1) RS, ARG ST Y A A @ R e
2) 577 T BT SR IR B

(3) RISHTRI BT AT A fIHIRAT BT

(4) T & 3 T

PG-EE-2015/(Economics)/(D)
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60. Ina production function y=f(L,K,N,T)y is:
(1) National product ' (2) Capital

(3) Natural resources (4) All of these
SAEH B § y=f(L,K,N,T)y & :

(1) TS SR @ T
(3) wrpfis FHRE ) A wh
61. Look atseries2, 1, (%) , &) i What number come next ? $

(1) % ) -;- 3) % @) N@\mese

mmmu@)(&) ....... T ——— Q.
M 3 @ 1 ® 3 .@\4? T P T

62. Look at series 36, 34, 30, 28,24, ........ What m{ omes next ?
(1) 20 (2) 22 . Q@ (4) None of these

g 1 2RIY 36, 34, 30,28, 24, ... wer Far gl ?

m220 Q2 0 (3) 23 (@) T ¥ P T
63. All the glitters are not ‘

(1) Only gold g@’ (2) Metal glitters

(3) Not all metals glitter (4) None of these

P T T A A

(1) PIA |1 TG & C(2) o TEE ®

(3) W &g T T 4) T A B3 TE

G-EE-2015/(Economics)/(D) | | P, T. O,
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64. Every library has books :

(1) Books are only in library (2) No Library is without books
(3) Some libraries do not have readers (4) All of these

TS s A fdard gt 2

(1) gK&T A Haa fhard (2) fraEl & TR DIy AT 81
(3) BB TRKHIT § UISH el 4 Al

65. A person walks at 5 km/h for 6 hrs and 4 km/h for 12 hrs. His aver@peed is :
(1) 8km/h (2) 6km/h @,
(3) 4km/h (4) None of these Q\'

T el 5 Rreier WY HYeT 6 HUe ok 4 frardier @r 2 gu & Rrg TerT 2|

I9! g Tfa 2
(1) 8 f&#r/=ver . (2) 6 fhgn/
(3) 4fwf/ever @ %ré Sl

N

66. 30% of a number is 12.6, find the nu&k

(1) 45 @) 38 . A

TS H&T BT 30% © 12.6, ,@\aﬁm : _
(1) 45 (2@ (3) 40 @) 42

3) 40 - (4) 42

67. What number e%dded to 6, 16 aﬁd 8 to get an average of 13 ?
(1) 22 ¢ (225 (3) 20 (4) 1v8
6,16 T 8 T H&AT SIS WY frqar 3w 13 &1 7
(1) 22 (2) 25 (3) 20 (4) 18

68. What is the ratio of 10 minutes to 1 hour ?
1 1 1 . 3
M 5 @ < G @ =

PG-EE-2015/(Economics)/(D)
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70.

71.

72,

19
10 ff9e &1 U@ 9v¢ 3uTd &1 & ?
1 1 1 3
(1) 5 (2) r 3) 1 4) -

A student is ranked 12th from right and 9th from left. How many students are there in
total ? '

1) 21 2) 16 3) 20 @) 25
T faemeff @1 ¢ & 12 R 9 & 9¥& fRwr 8, go fa faem’t & ?
1) 21 @) 16 3) 20 @) 25

Look at the series 53, 53, 40, 40, 27, 27.......... What number should c@
(1) 12 @) 13 @) 15 @) ﬁQ |

53,53, 40, 40,27,27 .......... Ig 9o RIT | IrTelt Fe=r Fn 7

1) 12 2) 13 () 15 ) 14

1N
Which of the following types of economy describ’e%e nomy of the U. K. ?

(1) Mixed Economy (2 conomy
Yo Po B fferdwen & = § F BA-A arfegwR Hed ?

(1) B referawer . referaven

Suppose yoﬁ buy Econovm‘%gvid King. What is opportunity cost of your

purchase ?

(1) The money you p, r ook -
(2) The time you e@ studying book

(3) Costof pr@ Book

(4) None of these

A @ 3 David King &) 7o @IgAT ared 8 | Mus &N Bl JqaR AN 347 & 2
(1) fram & fg amue 49 fay

(2) f&HaE ued # AT T

(3) fdaE Sw@rE o AR

4) 37 | P13 7B
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73. Aggregate demand is increased by :

(1) Increase in interest rate (25 Increase in taxes
(3) Increased consumer confidence (4) None of these
(1) =9 R & TR 2) R F g

(3) IUHIET HT ITHATATT g | (4) s | HE 7T
74. Aggregate supply increases when: ‘ 2$
(1) Raw material price rise (2) Wages rise Q\'

(3) Wages fall (4) All of thesQ
Bl qfct Tl § O

(1)mma%aﬁﬁﬁzra'cﬁ% () gl &
(3) worgdr frehy = ¢

75. The ultimate increase in workér @&ivity usually reflect :
(1) Growth of labour union’\&
(2) Increased educat@&proved equipment
(3) Increase social security
(4) Noneoft
I § B ST g AR W R
(1) =@ &9 3 Hgfg
(2) e g 5w Ok Tg9 &
(3) ARG R TGN ¥
(4) 37 @ 15 TE

PG-EE-2015/(Economics)/(D)



76. Investment in physical and human capital is encouraged by :
(1) Lower taxes on interest income (2) Lower taxes on investment returns
(3) Lower taxes on returns to education (4) All of these
v i 7 A SN ¥ Prve st g @
(1) =ars amg R 7 &R (2) e oifey o =g B
(3) forem wmfd w® T IR (4) T a0

77. Sustainable economic growth depends upon : R l
(1) Investment, not saving (2) Investment and saving @

(3) Neither saving nor investment (4) None of these Q

(1) Frw, Tga =& (2) e 9 Tod
(3) 7 =, 7 Fraw @) T A PR
.

~78. Income disparities is measured by : \
(1) Population growth rate Gini Index
(3) Gross domestic product Q) None of these
s P Y o ¥ Q
(1) S 9 0 (2) i gEdid
(3)mmm0 @) T & B T

79. In developin@mes, the fraction of the economy in non-market transaction can

be as much as:
(1) 10 percent (2) 25 percent
(3) 75 percent (4) 50 percent
Rrpraeie 29 § AR TIOR Qe § srefarERe ST 4§
(1) 10 wfrerd (2) 25 wferer
(3) 75 vfrem (4) 50 frer

PG-EE-2015/(Economics)/(D) v P, T, O,
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80. Solow growth model says :
(1) Poor nations will grow faster than rich nations
(2) Rich will get richer poor will get poorer
(3) Rich will get poorer and poor will get richer
(4) None of these |
Hrel Hafg Hdied Heal © ¢
(1) N9 g IR I B T ToN § T §

(2) 3R 7T 3R g TG SITET TR B &

(3) MR g B 7 W9 AR BN

N\

(4) T A BIg TE 60
81. Which is not an issue in macro economics ? | Q~

(1) Relating to balance of payment S\

(2) The relation between inflation and ’N& ment

(3) Determination of price in agr&%ector

(4) None of these . A

'ﬁﬁﬁﬁﬁ-wm&a{d?@zga?ﬁ%?

(1) T Hger ¥ g

(2) gETI g q wde

(3) B &= tcﬁ'f foeriRoT

4) T® el

82. In studying growth theory :
(1) Focus on the very long run
(2) Ignore recession and booms
(3) Assume that all inputs are fully employed
(4) All of these
PG-EE-2015/(Economics)/(D)



83.

84.

85.

PG-EE-2015/(Economics)/(D) P.T.O.
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wafy Rraa &1 sraad o # ¢

(1) fy &g &1a W) &=

(2) # T TS BT ATQ@T HIAT

(3) w9 o & fb @i 3T BT g8 WS T &
(4) T 0

Potential GDP is : § l

(1) Always greater than actual GDP (2) Growth rate of country \

(3) Creates inflation (4) None of these Q
wHed GDP ® : | Q~

(1) &9 ar<fas GDP ¥ 97 @ (2) < D A

(3) wHIfer AT AT © (4) z-vgﬁéﬁ
A large transfer in federal budget is :

(1) Defence Q) Police

(3) Welfare OQ (4) Social security
g gofc # wm/@@n?w -
(1) e (2) gfera

2

(3) @t (4) SIBIINE RET

A person had an income of $ 20,000 last year and paid $ 10,000 as tax. This year, the
person had an income of $ 1,00,000 and paid $ 30,000 in tax. The marginal tax rate of
that person is :

(1) 25% (2) 30% (3) 50% (4) None of these

1| P A, | B | | |
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86.

87.

88.

89.

D

U fdd o 1T $ 20,000 fUwel 1t o ik 398 @ I8 $ 10,000 &< 41| 39 A 99

Zfad @ 3T $1,00,000 ® 3R $ 30,000 B fear| @ aafed &) OHid H S 2

(1) 25% () 30% (3) 50% (4) 3H & I3 FE

Which of the following is not included in M-1 ?
(1) Gold -~ (2) Creditcards (3) Stock (4) All of these
3 A BT M-1 4 e 78 o @ 2

(1) | (2) IRT BT (3) wid (4) wh% |

As per monetarists, in the long run, the Phillips curve is :

(1) Downward sloping : (2) Upward slopir@&\'

(3) Vertical (4) Horizont

HETde] & AR, A" HTaA #, fbfora 9% 7 ¢ Q‘

(1) 9 B RE g1 gon ) wﬁqw%?ﬂ

(3) Tad . 4y

Which is an example of portfolio inv@%
2

(1) A places his funds in bank’ ) A puts Rs. 1,000 in money market

(3) A purchases bank of U. ?Q\ (4) None of these
?

MWRAYE e feaeT 3

(1) T M+ ¥ & we - (2) T a1 99IR # R $9Y Trerel ®
(3) T T P 2 (4) TH | B1g T

The price@d& and interest rate are : ‘

(1) Not relased (2) Positively related

(3) Negatively related (4) All of these

4 9 &1 R B DI & - ‘

(1) wefra e (2) THRIAH wefer

(3) THERIAS el (4) T & Wi

PG-EE-2015/(Economics)/(D)
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91.

92.

93.

94.
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As interest rate falls people hold money :

(1) More (2) Less (3) No change (4) None of these
e &) IRA 9 ST R I €
1) e @) ®W 3) RadT & (@) T F PR T

The study of behaviour of the overall economy is called :

(1) Micro economics (2) Macro economics

(3) Positive economics (4) None of these $
ot sreferaRen @ UER B AT B PEC € @
(1) geo1/<afe i (2) T apire \,

(3) WHRTHAS HAARA 4) 37 | P1E & 60

Three fundamental questions of economic organization are :

(1) When, for whom and how (2) Who, hoﬁdowhen

(3) How, what and for whom (4) Whaz apd why

i WTeT @ A S UeA € ¢ 6 |

(1) 7, foa forg ik Ba » B iR e

(3) W, 7 IR fFas fog ’Q&waﬁweﬁ-\rmﬁ

A situation in which limited ougre being utilized most effectively is called :
(1) Economic (2) Scarce (3) Efficient (4) None of these
i Rerf et e T o ST & A fy T

(1) i ‘7 (3) W 4) T A I T

Cardinal utility theory assumes that consumer can :

(1) Determine marginal rate of substitution between goods
(2) Avoid the law of diminishing marginal utility

(3) Rank basket of goods as to their preference

(4) None of these

PG-EE-2015/(Economics)/(D) ‘f P.T.O.
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QT / ToEras SYAfaT Rigrd amar & 5 Suviadr &) gadar & ¢

(1) a3l & a9 faxemus & Wwid =% fMuiRa o=

(2) A SR & e uRihe @ | B FHRAT

(3) TRoME & o | AHMF/ X3 B B BT ug/AoNag
4) ¥ 9@ 318 &

95. Which is factor of production ?

(1) Labour ) Land \&

(3) Capital (4) All of these

N\
ST B T PR & 7 60

(1) =™ 2)
(3) ol (4) y3 LYY e

96. Economic growth is depicted by : @
(1) A shift in production possil‘“@ontier outward
. L 4
(2) A movement from insid Xurve toward the curve

(3) A shiftin the proc@ possibilities frontier inward
(4) None of the

e & T ®

(1) HICIR BT 9 B TP ST
(2) 9% B IeR P IH B TWPH ToTIA

(3) T FHITAT WEAR BT 3iER P TS 37T
(4) 379 9 FIg T |

PG-EE-2015/(Economics)/(D)
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97. Law of demand stétes that an increase in the price of a good :
(1) Increase in the supply of good
' (2) Decrease the demand of that good
(3) Increase the demand of that good

(4) None of these

T @7 Frgw garar @ 6 avg B P e W ¢

(1) a%g @ gff & gfg el © @*
. \

(2) S a%g B AT T ® Q

(3) S axqg B HOT 9§ AR B Qp

4) 3 & IS TE

98. Increase in the price of blue jeans leads to incre @demand of shoes, then jeans

and shoes are : - &

(1) Complements Q ferior goods

(3) Normal goods 9 (4) All of these
el ST Y P 9o | Sl HAT god 8, R | @ S ® ¢
.

1) /S ' (2) BT A
(3) AR O (4) T 0
99. An inferior good is one for which an increase in income cause an :

(1) Decrease in supply (2) Increase in demand

(3) Increase in supply (4) Decrease in demand

PG-EE-2015/(Economics)/(D) P.T.O.
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X A 98 & 99 3 94 W SqP) :

(1) ofcf % o e 2 (2) HfT % gfg et &

3) ofdt % gfg & 2 (4) ¥FT § B Bl @

100. The demand of the following is most price inelastic :

(1) Transportation , ‘ (2) Taxi rides

(3) Bus tickets (4) Airline tickets

Py 2 W7 freeR A o BN 2 -

(1) Iramama (2) SR Ts=H @&

(3) ¥9 fewe : (4)mm%%\.
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